AVERAGE
(sfhe)
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YEAR : 1999

The average marks of 32 boys
of section A of class X 1s 60
whereas the average marks
of 40 boys of section B of class
X 1s 33. The average marks
for both the sections com-
bined together is :

a1 10 F =1 A ® 32 B F A
60 @ =1 B % 40 Bl #1 3w 33
B I Fanei w1 sred w7 F:12

(a) 44 (b) 45

(c) 465 () 455

A man bought 13 articles at
Rs. 70 each,15 at Rs. 60 each
and 12 at Rs. 65 each. The av-
erage price per article 1s

wF A 3 13 g5 70 ufd G &
= ¥, 15 9% 60 uft a5 & A=
T 12ge 650 o & 99 9
wHIET| Yo A 1 A Yol 76 w12
(a) Rs. 60.25 (b) Rs. 64.75

(c) Rs. 65.75 (d) Rs. 62.25 p

A frut seller sold big, medmm w,

and small sized apples forﬁs )
15, Rs. 10, and Rs. 5, redpec-

tlvelv The total numbér of

apples sold were in d’le’maho 3
: 2 : 5. Find the ﬂfver{age cost

of an apple. ~ e

T T fore 3 T, W e T AT

* ®a° 1571099 5% 99 9 34

FAHE 3:2:5%F I H 99 ™I

UF T F1 G G TIH H2

(a) 8 (b) 10

(c) 9 (d) 7

A man purchased 7 bags of rice

at the rate of Rs. 800 each, 8

bags of rice at Rs. 1000 each

and 5 bags of rice at the rate of

Rs. 1200 each. What 1s the av-

erage cost of one bag of rice?

F

6.

TF AfF A TEd 7 9 § uS@E
800 T F1, 8 S § w=w 1000 ¥
F A1 5 9 § w=F 1200 ® F
wiE @ Jad TEd #OTE O #)
Ared a1 R

(a) Rs. 1000 (b) Rs. 980

(c) Rs. 1120 (d) Rs. 1050

Three Science classes A, B and
C take a Life Science test. The ©

average score of class A is ”8'3
The average score of class\f&B,ls
76. The average score elsfss
C 1s 85. The average acﬁfe of
class A and B 18479, and aver-
age score of class alld Cis 81.
Then the aver age score of

classes A, B eén& Cis

ﬁaﬂﬁwﬁmm A, BaRC
Ser-famil FT e G # oFa AF
A 19 83 €1 Fan B % siwd %
7678 Fa C % siwd o 85 F1 e

(AW B dra siF 79 iR wen B

L &R C 7 s oiF 81 % w41 A, B

SR C & sima s feed €7

(a) 80 (b) 80.5

(c) 81 (d) 81.5

The average of marks scored
by the students of a class is 68.
The average of marks of the

girls in the class 1s 80 and that
of the boys is 60. What is the

percentage of boys in the class?
fordt e F faenfeli &1 ofma 68 2
FEE 1 3AHd 80 a9 BET H AET
60 21 F&l ¥ SE 1 gfaed Fid w7

(a) 40% (b) 60%
(c) 65% (d) 70%
YEAR : 2000

The average weight of 15
students in a class increases
by 1.5kg when one of the
student weighing 40 kg is

10.
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replaced by a new student.
What is the weight (in kg) of
the newysmdent?‘

15 Wﬁfﬁﬁ 1 3 ge 1.5 fram
aaﬁm%“w«mkgaa@mﬁm

wAm Tl wenfrm ww@ # w
"Waﬁmmmaﬂ?

( (a) 64.5 kg.

(b) 56 kg.

(c) 60 kg.  (d) 62.5 kg.
There are 50 students in a
class. Their average weight is
45 kg. When one student

leaves the class the average

weight reduces by 100g. What
is the weight of the student
who left the class ?

foredt en § 50 famneff 21 39 oirga
a5 45kg & w4 % faenef e @
el 9l €379 a5 100gm FH &
I &1 39 famel 1 999 @ W, S
w1 § Wl WA 87

(a) 45 kg.  (b) 47.9 kg.

(c) 49.9 kg. (d) 50.1 kg.

The average weight of 12 crew-
men in a boat is increased by

Ekg, when one of the crewmen

whose weight is 55 kg is re-
placed by a new man. What is
the weight of that new man ?

2 N 1

12 =l #1 @em a6 ke @
S #, 9 | e o a9 55 kg
2, F1 3179 AfH wfecnfod Fa 81 74
=Ifad =1 IeiF 9 Fi?

(a) 58 kg (b) 60 kg

(c) 57 kg (d) 59 kg
Average age of 8 men 1is
increased by 3 years when two
of them whose age are 30 and
34 years are replaced by 2
PErsons.
age of the 2 persons?

What is the average
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8 eafsral #1 aimd a9 3 = =g Wil 14.

€, 9@ 2 = far @ 30 = den
34 = & =i 37 2 =HfE g et
foran w1 %1 2 =AfsEi 1 SEa ey
| 2
(a) 24 years (b) 32 years
(c) 44 years (d) 48 years

11. Out of 10 teachers of a school,
one teacher retires and in
place of him a new teacher 25
yrs. old joins. As a result of it
average age of the teachers
reduces by 3 yrs. Age of the

retired teacher (in yrs) is:

O W % 10 foeel 4 9 o foww o

e € W € 2R SEE T W
TF T 25 9uE Wew g9 e FiT
s @1 gfomTeEEy e #osiEa
s 3 94 FW OB S 2 et
foes #1 g et (auf #) 27
(a) 55 (b) 65
(c) 45 (d) 75
12. The average weight of 20
students in a class 1s
increased by 0.75 kg when
one student of 35 kg replaced
by a new student.Weight of the
new student (in kg) is:
20 famfdai = siEa 959 0.75 kg
a2 o ¥, 54 uF faensff g fawa
a5 35 kg %, #1 UF o= faenedf g
yieentua fan smar &1 74 famnedf @

T A HL

(a) 35 (b) 40 f °°°

(c) 45 (d) 50 : ";;
13. In a class, there are 40 boy a.;ld

their average age is 16 ‘wéars.

One boy, aged 17 yeafs] Jbawng
the class and an er" ‘joining,
the averagejﬁge \becomes
15.875 years. ‘fhc age of the
new boy is:

TF HH H 40 AgH € 991 STHI ArEa
a7 16 9 71 TF wew faut g
17 =6 €, Fe § <o S0 @ 9o U
21 TISE FeN | Ffer 8 s 21
sitea =g 15875 ad 2 =it €1 a
(a) 12 years (b) 14.5 years

(c) 15 years (d) 17 years
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16?’

17.

The average age of 8 men is
increased by 2 years when two
of them whose age are 21 and
23 years replaced by two new
men. The average age of the
two new men is :
8 =afaal &t sidd oy 2 99 9%
s €, afg 39 | < e o
a7y 21 =9 don 23 79 2, # 7
=feal § whaeenfya fean sman 21 <
4 At w1 drEa T\ H
(a) 22 years (b) 24 years
(c) 28 years (d) 30 years
The average age of 30 boys in
a class 1s 15 years. One boy,
aged 20 years, left the class,
but two new boys came in his
place whose age differs by 5
years. If the average age of all
the boys now in the class be- |
comes 15 years, the age of }H&
younger newcomer is: ;Ze .
uF el § 30 I H 115
g 21 T BA SEEH ang , T
1 BIg W[ "__ mwﬁ
W H A o ¥, fo 31113,11535?
F1 A o sufeer sl #
1 e 15‘% e W AE IR
BE W 35
(a) W@arg (b] 15 years
cﬂwl year‘s (d) 8 years

e average weight of 12 par-

els is 1.8 kg. Addition of an-

average weight by 50 g. What is
the weight of the new parcel?
12 S=al 1 #ireq 5o 1.8 kg #1 T
T4 d2d F Wfed gH % wRo, S iEa
EEE 50gm$ﬂﬁ?ﬁ1%lﬁm
F1 T A L2

(@) 1.50 kg. (b) 1.10 kg.

(c) 1.15 kg. (d) 1.01 ke.
Average weight of 25 persons
is increased by 1 kg when one
person weighing 60 kg is
replaced by a new person.
Weight of new the person is:
25 =t w1 #|a a5 1 kg 9%
S 8, 54 1 =t o o9m 60 kg €,
F 1 o o wfeefE w@ @ W
A 1 T TG FL:

18.

{}n.._\

20.
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(a) 50 kg.  (b) 61 kg.

(c) 86 kg. (d) 85 kg.

The average age of 11 players
of a cricket team is increased
by 2 months when two of them
aged 18 years and 20 years are
replaced by two new players.
The average age of the new
players is:

fedt frse 3w = 11 faenfeal =t
Frad A7 2 HIE &g Wil §, 99 99 &
7 feergl faa=t amg 18 a9 aur 20
a9 2, < s feaenfeat g
e%rm w1 T et
TR I H 7

[ap_ﬁ" year 1 month

(b} 19 year 6 month

bfc] 19 year 11 month

(d) 19 year 5 month

If the average weight of 6
students 1s 50 kg. If two student
of average weight of 51 kg are
added and two other students of
average weight of 55 kg are also
added then the average weight
of all the students is :

6 faenfefsil =1 sitga ==m 50kg, 2
faenfofai 1 sitga asiT 51kg qu
2 i famneff faa sfwa 99 55kg
?, wifie 2 S| ¥ qe geft feenfefai
F SEd F9E T B

(a) 61 kg (b) 51.5 kg

(c) 52 kg (d) 51.2 kg

From a class of 24 boys, a boy,
aged 10 years, leaves the class
and in his place a new boy is
admitted. As a result the av-
erage age of the class 1s in-
What 1s
the age of the new boy ?

24 THE F1 TF Fal WIEH I HEH
o7 10 99 § Fe @ wen Wil g ud
UF 9 = imfed @ 5 21 e
FROT Feq FHI S H 2 R A9 S
HIECEI el i e i

(a) 12 years (b) 15 years

creased by 2 months.

(c) 14 years (d) 13 years

|" 667
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21.

22.

23.

24.

YEAR: 2001

The average of 10 numbers is
calculated as 15. It 1s discovered
later on that while calculating
the average one number,
namely 36, was wrongly read as
26. The correct average 1s :

10 "emsi #1 3fmd 15 99 &
T AR F @ gen B siea 9 v
WY T = 36 F WHE W 26
s = @ M) W e J| w2

(a) 20 (b) 18
(c) 16 (d) 14
A student finds the average of

ten 2 digit numbers. While
copying numbers, by mistake,
he writes one number with its
digits interchanged. As a result
his answer 1s 1.8 less than the
correct answer. The difference
of the digits of the number, in
which he made mistake 1is:

TF BE 2 3 At 59 Hemss @
Sid A HE & AR q T g g
% Hv el He 5 3iF 0" | wee
w4 € s Fwro sEw 9o s
aftomd | 1.8 FH M B &N B S

1 SR T W, o 7 g o
(a) 2 (b) 3
(c) 4 (d 6

In an examination, the average
of marks was found to be 50. For

deducting marks for computa-
tional errors, the marks of 100

candidates had to be changed f

from 90 to 60 each and so the

average of marks came di to )
45. The total number of lch—
dates, who appeared 1 m | ex-
amination, was: 4

fopelt Tham §, o aum /50 Bl
T AR F W EH AR ® w
100 »mf & 3 90 % T W 60

st & m s Fnor siE @
#Ea 45 ¥ S E whe # weted
BE ® TEM A FL2

(a) 600 (b) 300

(c) 200 (d) 150

The average weight of a group
of 20 boys was calculated to be
89.4 kg and it was later discov-
ered that one weight was mis-
read as 78 kg instead of 87 kg.
The correct average weight is

668 |
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25.

26.

27

28.

(P

20 BT 1 drgd g9 89.4 kg sifFa 29.

T T =% § 3 g fF W
87 kg % wM W 78 kg sifra faar
T WA st we Fa w2

(a) 88.95 kg (b) 89.25 kg

(c) 89.55 kg (d) 89.85 kg

The mean of 50 numbers is 30.
Later it was discovered that two
entries were wrongly entered
as 82 and 13 instead of 28 and
31. Find the correct mean.

50 Femei 1 s 30 #1 AR H I
gan for =1 Al # 28 wH 31 &%
w 82 ud 13 e § affwa faram mam

e S T F
(a) 36.12  (b) 30.66
(c) 29.28  (d) 38.21

The average of 25 observations
1s 13. It was later found that an

observation 73 was wrongly en- €

tered as 48. The new averag?’y 18
25 w1 aimm 13 # 311#
gan f& 3fe % Fror 73 fr&am
foran T T SfEd {E aﬁ;?
@126 () A4

() 15 y, ¥

The mean @ of 20 obser-
vations \yas ﬁ)"ﬁnd to be 75, but
later on. it was detected that
97 @mlsread as 79. Find
th:‘é \p‘or‘rect means.

i =1 sired 75 T ga A q
‘sﬂ'rlganﬁ:gﬁa?mwsﬁ 79
HAfepa foran an1 9l #liga T 7
(a) 75.7 (b) 75.8

(c) 75.9 (d) 75.6

The mean of 100 items was 46.
Later on it was discovered that
an item 16 was misread as 61
and another item 43 was mis-
read as 34.
that the number of items was
90 and not 100. Then what 1s
the correct mean?

100 Hemat #1 3w 46 B @ §
I g3 % Ffe & FEr 16 i 61 @er
43 FI 34 sifewrd fea wam 2 <t s
72 o ®o eI 100 =% &= W 90
offl Wt airm w@

(a) 50 (b) 50.7

(c) 52 (d) 52.7

It was also found

&:}..

31.
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In an exam, the average marks
obtained by the students was
found to be 60. After omission
of computational errors, the av-
erage marks of 100 candidates
had to be changed from 60 to

30 and the average with re-
spect to all the examinees

The

total number of candidates who

came down to 45 marks.

took the exam, was

ot wlten o foenfofai & il %1 2dima
60 3w il Ffedt wi g F AR
100 ;‘a:wi’rqaeoﬂsoz‘r
WM\N foanfeddt =1 sdrma 45 @
ﬁf S R
La'f 200 (b) 210

[ ) 240 (d) 180

A student finds the average of
10, 2 digits numbers. If the dig-
its of one of the numbers is in-
terchanged, the average in-
creases by 3.6. The difference
between the digits of the 2 dig-
its number 1is

3 i arht demeli 1 ofmm 10 #
afs UF dEn & AF Hi age G =
2 oftmd 3.6 ™ @7 Wl 81 9 siF
et W & SR F A T HL?
(a) 4 (b) 3

(c) 2 (d) 5

The average marks of 14 stu-
dents was 71. It was later found
that the marks of one of the
student has been wrongly en-
tered as 42 instead of 56 and
another as 74 instead of 32.
What is the correct average ?
14 ferfef = sirm s 71 91 W9 9
7E U T T U et % aw o=
TRt W 56 % F W 42 fora e wn
3R o 3= el & &% F1 32 % WA
W 74 for T T wE SwE @ #2
(a) 68 (b) 71

(c) 67 (d) 69
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32.

33.

34.

35.
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The average of a collection of
20 measurements was calcul-
ated to be 56 cm. But later it
was found that a mistake had
the

which was

occured 1in one of

measurement
recorded as 64 cm., but should
have been 61 cm. The correct
average must be:

20 Wi #1 @ 56 cm #1 W8 H
Td g2 %, Ife % Hw Uk AE 61
cm ® ¥E W 64 cm FHfEa fFmA
T WE A T e

(a) 53 em  (b) 54.5 cm

(c) 55.85 cm (d) 56.15 cm

The average of marks in
Mathematics for 5 students
was found to be 50. Later, it
was discovered that in the
case of one student the marks
48 were misread as 84. The
correct average 1is:

frg ¥ 5 freanf¥f=i =1 aiga 50 1 wrg
o 9 gan fF 3fe & Fno uE e
3F 48 F T W 84 fwa =1 T
WE S T\ FLY
(a) 40.2 (b) 40.8
(c) 42.8 (d) 48.2

YEAR: 2002
The average age of eleven
cricket players is 20 years. If
the age of the coach is also in-
cluded, the average age in-

creased by 10%.
the coach is :

11 e faenfeal #1 siaw @0’-‘
af #1 afx w7 omg ot wldfem v
ot S s 3T 10% 58 S €1

FA H A W H
(a) 48 years [9?4?_{_&661‘5

(c) 40 years [d]ﬁGchars

The mean of 9 observation is
16. One more observation is
included and the new mean
becomes 17. The 10th obser-
vation 1s:

9 Yeruif =1 3iET 16 21 TF g7 iR
inferm eF & Hrv =49 sl 17 €
St 21 10 & Jayor s #5172

(a) 9 (b) 16

(c) 26 (d) 30

The age off

36.

37.

38.

There are 10 balls; some of 40. There are two groups A and B

them are red and the others
white. The average cost of all
the balls 1s Rs. 28, average cost
of red balls Rs. 25 and that of
white balls 1s Rs. 30, the num-
ber of white balls is :

10 e % %5 @ Ud S ke g £
gt & 1 e e 28, o TR
F1 #irea 25 qu T ﬁ"{’f w1 i
T * 30 1 W% el w den |
Exy)

(a) 3 (b) S
(c) 6 (d) 7
The average mathematics

marks of two Sections A and B
of class IX in the annual
examination is 74. The average
marks of Section A is 77.5 and
that of Section B 1s 70. The ratio
of the number of students pf
Section A and B is : ff";

mmAamea‘:aﬁm@lﬁj«éi
¥ Fa A F B 1 G775 a
wen B 701 1 g 7057 F41 A

ammBﬁmﬁeﬁqﬁaﬁ 7
(@) 7:8 ) 75’
(c) 8:7 Cf}‘8 5

The meiafiwmght of 34 stu-
dentsﬁof & school 1s 42 kg. If
the%eight of the teacher be
1r}'éluﬂed the mean rises by
%Defgrams Find the weight of

é’”{he teacher (in kg.)

Yy uw famem F 34 oEl W sima aR

39.

42 kg 21 af FemTE F oaw A
ufiwfera &2 fomn =3, @ si|a 400
gm 9% | &1 HPAUE F YR TG
TV

(a) 55 kg (b) 57 kg

() 66 kg () 56 kg

4 boys and 3 girls spent Rs. 120
on an average, of which boys
spent Rs. 150 on the average.
Then the average amount spent

by the girls is:

4 wred 91 3 wefwa siea w9 @
120 & F30 €1 9% wig ofmd 9 9
150 = =@ €, @ aefE oo

B F FL?
(a) Rs. 80  (b) Rs. 60
(c) Rs.90 (d) Rs. 100

41.

of a class, consisting of 42 and
28 students respectively. If the
average weight of group A 1s 25
kg and that of group B 1s 40 kg,
find the average weight of the
whole class.

fodl wen H QW A9 429 g9 BH
28 farneft € afz yu A % faanfeldi =
#irad w5 25 kg @91 79 B & faenfefa
1 afrma =9 40kg e, @ gegol wHe
F1 3iad 999 T FL?

(a) 69 kg (b) 31 kg

(c) 70 kg (d) 30 kg
Averagesweight of 25 students
of‘a laﬁﬂs 1s 50 kg. If the
we t+-of the class teacher is
inkeluded, the average is in-

o \Ef;*gésed by 1 kg The weight of

ﬁle teacher 1s

&M‘\.ﬁ
C N Tt wan § 25 famnfeRi @ wm &

hf‘ #ired 50 kg #1 A% e 1 AR o

42.

43.
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wfmfed fmar <3, @ oi|a R 1 kg
7 A ¥ SOMTE FTOGR J@ HI2
(a) 76 kg (b) 77 kg

(c) 74 kg (d) 75 kg

The average salary of all staff of
a school is Rs. 10,000. The av-
erage salary of 20 teaching staff
is Rs. 12,000 and that of non-
teaching staff 1s Rs. 5000, the
number of non-teaching staff
will be

et foremers & it s #1 sfraa
21 *10,000 21 20 ST=TH 1 S
*12,000 7N # S AEATTE AE B,
F1 3iEd 2 * 5,000 21 39 FHEE
F Hew T F, S STEE T 87
(a) 7 (b) 8

(c) 10 (d) 12

The average salary, per head,
of all the workers of an insti-
tution 18 Rs. 60. The average
salary of 12 officers is Rs. 400;
the average salary, per head,
of the rest is Rs. 56. The total

number of workers in the in-
stitution 1s

et geom # s FEErd S ofed
14 60 21 12 e 31 siraa 2
*400 ® o 99 wH=iE @ sra
14 * 56 ¢ Hen | wel wHaiEl w
TEAT A HL?
(a) 1030

(c) 1032

(b) 1035
(d) 1020

|’ 669
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45,

46.

47.
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The average marks obtained
by 40 students of a class is 86.
If the 5 highest marks are re-
moved, the average reduces by
one mark. The average marks
of the top 5 students is

40 forenfefi #1 Fa1 & s 3 86
€ aff 5 game @F T G Wi,
foed sitga 1 oi% 9 & <. 21 5
fenfeai &1 sHigd @ w12

(a) 92 (b) 96

(c) 93 (d) 97

The average weight of first 11
persons among 12 persons is
95 kg. The weight of 12% per-
son 1s 33 kg more than the av-
erage weight of all the 12 per-
sons. The weight of the 12%
person 1is

12 @it 9 veet 11 i 1 ofra aod
95 fm 21 12 & =fe & a5M 12
i & Frad aem | 33 fam s g,
@ 12 F =ifm =1 aem e 22

(a) 128.75 fm.

(b) 131 firmm.

(c) 128 fwm.

(d) 97.45 fem.

The average age of four broth-
ers is 12 years. If the age of
their mother 1s also included,

the average is increased by 5
years. The age of the mother
(in years) is :

4 i = eiwa e 12 = @1 AR

48.

49.

50.

,,,,

There are 30 students in a
class. The average age of first
10 students 1s 12.5 years. The
average age of the remaining
20 students is 13.1 years. The
average age (in years) of the
students of the whole class is:
s wen ° 30 famdt ¥ wew 10
famfefai 1 afmm 12.5 o &1 o=
20 fenfof =1 s 13.1 =d 2
Tegol e # SiEd e

(a) 12.5 yrs (b) 12.7 yrs

(c) 12.8 yrs (d) 12.9 yrs

The average salary of all the
workers in a workshop i1s Rs.
8000. The average salary of 7

technicians is Rs.12000 and

the average salary of the rest
is Rs. 6000. The total number of

workers in the workshop is:

TF weAwen § wdi aeg afm?r
@™ * 8,000 2 fawd 7 T
3ga 314 * 12,000 1 37

o T
™ 6,000 % Wa €5
Ras {j‘j

TSl P HEm e
(d) Q?\‘

(a) 20 (b) 2
(c) 23
In a school, average age of
students 1 “‘feals and the
average ,&g&ejof 12 teachers is
40 yearsj[f average age of
ined group of all the
te?aebérs and students is 7
yeats, then the number of
é”“&Eft:u:lv:nts is:
fapdt formmera & famnfelal =1 ot a1y

mmﬁmaﬁﬁmmﬂf” 6 = T 12 S i sied

<, a‘[ai‘mssﬁa?m%‘lm?gg%yu
36 i
(a) 37 years (b) 43 ye
(c) 48 years (d) 5 {.yg?'rs
of '.Zﬂv“boys in
@r\ﬁ ‘5 new boys
are admitted to the class
whose average age is 7 years.

The average a

a class 15 12

The average age of all the boys
in the class becomes

T Hel H 20 weh 1 2Ea g 12
i 21 579 weF Fa ¥ gEfed e
&, ot ol oy 7 99 @1 wen o
A F T A T H

(a) 8.2yrs (b) 9.5 yrs

(c) 12.5 yrs (d) 11 yrs

670 |

51.

40 = %1 AR seATawi qen faenfefi
F1 ofa 37 7 59 @, o faenfdai #
T T 2

(a) 396 (b) 400

(c) 408 (d) 416

The average age of 24 boys and
their teacher is 15 years.
When the teacher’s age is ex-
cluded, the average age de-
creases by 1 year. The age of
the teacher is:

24 BET A AATIF FI GA A
15 39 21 S/ s7eATIe i 3 Ferer
§ et 8, o ofwa emg 1 ad wW
W | AANE T ST AW FL2

(a) 38 years (b) 39 years

(c) 40 years (d) 41 years

92

53.

o™

{}..

e/

54.

55.
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The average score of a class of
boys and girls in an examination
is A The ratio of boys and girs
in the class 15 3 : 1. If the aver-
age score of the boys is A + 1, the
average score of the girls 1s :

et Fan # 21 9o sEE @ oA w7
irga A 21 el § Bl Ao e
FEE 3 : 1% ARk Bl & A &
did A+1 &, ©f oEnedi % S W
a1 FE?
(a) A+ 1

(c) A+ 3

The a ":age age of 30 stu-
deat 115\@ years. If the age of
th@;r }:eacher is included, the
“Avefage 10
yé;ars The age of the teacher

(b) A -1
(d) A-3

age becomes

i (in years) is:

30 fernfefai =1 sfrem 219 = 21 4fy
FEAE F HF Wl & S, dl
Fa F1 g g 10 99 & S 2
FEAE wmIY (A H) FE w2
(a) 27 (b) 31

(c) 35 (d) 40

The average age of 40 students
of class is 18 years. When 20
new students are admitted to
the same class, the average
age of the students of the class
is increased by 6 months. The
average age of newly admitted
students is

Feql | 40 faafefai %t ofwe @ 18
i 21 A 20 T8 B Fan ¥ wiEfe
&4 €, ° I F e A9 6 HE 9g
SR 81 T wfwfaa o #t ofrea ey
Eica?

(a) 19 years
(b) 19 years 6 month
(c) 20 years
(d) 20 years 6 month

YEAR: 2003
The average age of a husband

and his wife was 27 years
when the child was born, the
average age of the husband,
the wife and a new-born child
is 21 vears now. The present

age of the child is :
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ufd ©a et i afE o 27 =@ o,
54 F=d 1 S g ufa, 9fd v =
I FdaE dArd @21 7 ) A=
FE =g T4 F2

10 =fEi et ufEr #1 3i|d @ 20
af &1 gf ofEr & e g 95 #
g 10 & %, qa ufiEar = siwd a1y
TaE DR WEH F S & UHd J1d F

TH AR SEE < w6 i e A 17
ad qem T HT UeH SR ST Sl H
g @1 169 81 4f% 7 = 2y 33
i &, 9 SUH Iohl F A T L

(a) 4 years (b) 3 years (a) 27.14 yrs (b) 12.5 yrs (a) 31 (b) 32
(c) 2 years (d) 1 year TP A 111 (c) 35 (d) 30
i Infa {?m'ly’ :ihe aver?lge ase ak (©) 28 Fesld) g I8 64. A man had 7 children. When
i efﬁiin A TROHIES 1;’ t:]:315 B was born when A was 4 year their average age was 12
o, e et ag o the © 7 U O Bo e, s et aged © years
son is 27 YGe;rs What is the when, B weq 3 yeard migh died. Then average age of re-
o e — e old. When C was S year 2 maining six children 1s:
g ) . month old, then their average §
ot uftam o foar 9o o w1 shea BiE was: T A F 7 T €| @ S S
17 35 3 81 fo, e @en O Y s B @1 W 7@ ga, W@ A F oy 4 7 1 12790 of, T w0 ot o1 6
S 27 o ¥ A F 3 W HY 7 s C 1 9 7 g2, 5 BF o off TS §1 T S 6 aw H
(a) 12 yrs  (b) 11 yrs a7 3= 4 e ot w4 CH A 5 S S HE2
(c) 10.5 yre (d) 10 yre =f 2 = off, W S sia W w2 [ak%’S;ycarb (b) 10 years
57. The average age of a husband (a) 8 years 9 months s «fc; ¥1 years (d) 14 years
and jm_fe, W]:%OH \;rgre mfa‘rnfc:t 4 (b) 7 years 3 months 657;“ ; years ago, the average age
fiizl: :F,(;i:l‘evijbmarf:lz a T];z (c) 8 years 7 months O™\ (J of a family of 5 members was
sverage age of theg family (d) 8 years 11 months £ / 17 years. A baby having been
consisting of husband, wife Thee sverngs ajsiof hiabatd bOI‘t.l, the average appiof the
.g i his wife was 23 years at the.%,umg family is same today. The
and a child, born during the of their marriage. After s fite present age of the baby is
interval 1s 20 years today. The years they have a on a! old 399 yed, 5 ue=l S 9fEm #
£ the child is: child. The average age’ “of the 8 i o =
age of the c 18 family of three, yﬂt‘-}n the child ag 17 &Nl Th &= Bl SH
o s e W 3frea o, e 4 was born, was 7V} gwamvﬁsrnﬁaﬁmsﬁmang
74 foare zan on, foae & W 25 9 foeme & W e oot w1 i A Bl A I AAAA S T FL
off| ufd, ufst v 4 F1 iwa e 20 & 23 =1 |fas||gir§'53ﬁ3!z| 1
st % o M a‘—mqmﬁﬁmﬂﬁmaﬁm (a) 1 years [b]1§ year
N " . & 3{ 5..3 Rl ST T2 (c) 2 years (d) 3 years
(a) 1 years (b) 2 years [%], 28 years (b) 24 years ¥ ) y i
66. The frequency distribution data
(c) 2.5 years (d) 3 years LCLPS years (d) 20 years —
62.C F&' 1 £42 b b 1s given below. If the average age
58. Five years ago, the average age Ik 5 S e B & 17 the val Forpiia
- ? .« aged 10 years goes away and 1= FEALE, e VYate: QLIS
of Pand Q was 25. The average “\. in his place, a new boy is ad- Age (in years): 8 20 26 29
mg=olP, Q e Ritody is 25. fgmy- T the e o ot the No. of people : 32 m 1
of R after 5 years will be e boys in that class increases by agfer formeon <t oo e 21 Afk i
oi= = gd, P afr Q &t ﬁma‘éSa‘é 2 months, the age of the new- g 17 = 2, m 1 9E A w12
1 1 P,Q W R %1 sigd.3i 25 ot Comiﬁﬂ:mm%‘wm g (39 §) :820 26 29
%|SaﬁmR;2maféaw mmaﬁgwmgmw;” @i @ wem 132 m 1
15 o TF T TE T 9 ghferd & S (a) 1 (b) 2
(a) years ;2 years . T % s o 2 e o 3 A
(c) 40 years (d) 35 years T W 81 T BE F A AW 7
67. The average age of P, Q and R

59.
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The average age of a family of
10 members 1s 20 years. If the
age of the youngest member
of the family is 10 years, then
the average age of the mem-
bers of the family just before
the birth of the youngest mem-

ber was approximately.

(a) 19 years

(b) 17 years

(c) 10 yrs. 6 month

(d) 12 yrs. 2 month

The average age of Ram and his
two children 1s 17 years and the
average age of Ram’s wife and
the same children 1s 16 years.
If the age of Ram is 33 years,
the age of his wife i1s fin years)

Copyright © All Rights Reserved | https://spardha.guru/

is 5 years more than R’s age. If
the total age of P and Q together
is 39 years, then R’s age is

P, Q 7en R %7 3f9d &g R #1 219 @
5o atfys &1 afk Pud Q #t F=
@ 39 7 2, @ R ®f 319 71 &7
(a) 12 years (b) 24 years

(c) 16 years (d) 14 years

|" 671
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68.

69.

70.

Tl

The average age of 30 students of
a class i1s 14 year 4 month. After
admission of 5 new student in the
class the average becomes 13
year 9 month. The youngest one
of the five new students 1s 9 year
11 month old. The average age of
the remaming 4 new students 1s
uF w9 F 30 DE F A g 14
T 4 WE B SHH FE H 5 U BEf
% AW o % 4% e 13 96 9 W
g W g1 99 AU mE A wEd oR
oE 9ad 11 °e #7199 4 70 e
Fi ofrma o e €2

(a) 10 years 4 months/ 1034 4 AE
(b) 12 years 4 months/12 34 4 AE
(c) 11 years 2 months/11 34 4 AE

(d) 13 years 6 months/13 @ 6 HE
Average age of seven persons
in a group is 30 years, the av-
erage age of five persons of
this group is 31 years. What
is the average age of the other
two persons in the group?

uF 9§ g s # st @y 30
af 2, 39 0 3 i safEl & oea
o 31 =4 81 9 & 3 1 At F
Sad a1 fra 22

(a) 55 years (b) 26 years

(c) None of these

(d) 15 years

The average age of mother and
her six children 1s 12 years,

which i1s reduced by 5 years if
the age of mother is excluded.

72.

73.

74.

(a) 44 (b) 52

(c) 60 (d) 68

Average age of mother, father
and son was 42 at the time of
son's marriage. After one year,
an infant was born and after 6
vears of marriage the average
age of family becomes 36. Find
the age of bride at the time of
marriage.

e % w9 A, foan @i @ w5 el
oy 42 99 Ff T 9 9. T g
F T g HR W F 6 76 H AR
ofteR # sivmE oy 36 =4 @ S 2
o ART & T I B A JW H
(a) 26 years (b) 25 years

(c) 24 years (d) 23 years

The present average age of a
family of four members is 36
years. If the present age of the
youngest member of the fam—

ily be 12 years, the aver
age of the family at thet
nim.

of birth of the younges
ber was :

fordh afam # 4 il aﬂm ¥
3654 21 4fg qﬁ;'{? T B Tem
# g 12 9 g, e # i
a1, 2R TeEd S @ T e
(a) 48 yeé‘fg ﬂ)] 40 years

(c) yeat s (d) 24 years
(g“ AR 2004

e;average weLght of five per-

s sitting in a boat is 38 kg.
The average weight of the boat

The age of the mother (in yrs) is: f \,,e and the persons sitting in the

m’aﬁIWGWﬂ%ﬁaﬂng&Z}

af & 9 W F e i
W5 4 wW oA W e oA %
forartt (i #) 2 Q}f‘i‘:} -
(a) 40 (b) 5

(c) 42 (dp48=’
Average age o é‘é"sbns of a fam-
ily is 8 years. Average age of
sons together with their par-
ents 1s 22 vears. If the father
is older than the mother by 8
years, the age of mother (in
years) is:

foredt ofam & 6 G #1 ofem g 8
af ¥ g qen w@-faaw Aoy W=
st 22 ad &) afs frar @) g W@
1 319 9@ 8 ad aifusw 21 Wil H &g
i

672 |
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75.

76.

boat is 52 kg. What i1s the
weight of the boat ?

T § 92 o SAfwE 0 Admd a5 38
kg €1 719 a1 E § &S At # i6
T 52 kg ¥1 A9 1 wE AW FI7
(a) 228 kg () 122 kg

(c) 232 kg () 242 kg

Find the average of 1.11, 0.01,
0.101, 0.001, 0.11

1.11, 0.01, 0.101, 0.001, 0.11
&1 3ied J[ 7

(a) 0.2664 (b) 0.2554

(c) 0.1264 (d) 0.1164

Out of 20 boys, 6 are each of 1
m 15 cm height, 8 are of 1 m
10 cm and rest of 1 m 12 cm.
The average height of all of
them is :

7.

78y

L '\ sl

e)

79.

80.
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(916

The average marks obtained

20 @IgH H, 6 TgH A TEE 1m
15cm, 8 &1 @@ 1m 10cm A
= weHl #t @€ lm 12cm T
Tt Tew #1 S o J| B2

(a) 1m 12.1 cm

(b) 1m 21.1 ecm

(¢) 1m 21 cm

(d) 1Tm 12 cm

Out of four numbers, the av-
erage of the first three is 15
and that of the last three 1s 16.
If the last number 1s 19, the
first 1s:
4 s §, wom 3 dens o st 15
o SiaE 3 el #1 diEa 16 ¥ AR
197, 9 wom e T T
(b) 15
(d) 18

(ap19

by 22 candidates in an
examination are 435. The
average marks of the first 10
candidates is 55 and those of
the last eleven 1s 40.The
number of marks obtained by
the eleventh candidate is:

fret oiten ® 22 wenferi ®1 sfga
45 %1 e 10 yeareal i s 55
Ay sffem 11 yenfyEl &1 afwa 40
#1113 vl & % F w2

(a) 45 (b) O

(c) 50 (d) 47.5

The mean of 20 items 1s 55. If
two items 45 and 30 are re-
moved, the new mean of the re-
mainng items 1s:

20 HEAE F 3 55 % Af 2 desi
45d 30 ®1 1 oA S, T S
6 w2

(a) 65.1 (b) 65.3

(c) 56.9 (d) 56

In a pre school, the average
weight of 30 girls in a class
among 50 students 1s 16 kg
and that of the remaining stu-
dents 1s 15.5 kg. What is the
average weight of all the stu-
dents in the class ?

et e ®, 50 famnfefay wf wen &
30 BEnE #1 A 4R 16 kg aen
% B 1 siEa 9 15.5 kg #1 g
Feql FT S 9N T EIem?
(a) 15.2 kg. (b) 15.8 ka.
(c) 15.4 kg. (d) 15.6 kg.
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81.

82.

83.

84.

85.
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A man spends Rs. 1800
monthly on an average for the
first four months and Rs. 2000
monthly for the next eight
months and saves Rs. 5600 a
year. His average monthly
income is

uF = T ' W Wem 9R T
'1800 ufd W &« &l &, e
8 A * 2000 gfgHe = wE
g wd g 9§ ¥ ° 5600 F9W F
IUET A mios 2 T Hi1?

(a) Rs. 2000 (b) Rs. 2200

(c) Rs. 2400 (d) Rs. 2600

The average of 50 numbers is
38 If two numbers, namely 45

and 55 are discarded, the
average of the remaining
numbers is

50 ¥ems w1 fma 38 T Al @
gemai 45 a 55 #1 frswifaa fean
T, o T EEE w5 SEd T
(a) 37.5 (b) 37.9

(c) 36.5 (d) 37.0

Out of four numbers the aver-
age of the first three 1s 16 and
that of the last three is 15. If
the last number 1s 20 then the
first number 1s :

= geae ® 9 uselt 3 gemst &
siea 16 ¥ @i ifm 9 wemed #1
siga 15 %, afs sifm s 20 &, &

TEEt el 9 Fi
(a) 25 (b) 21
(c) 23 d) 28

The average of 7,11, 15, x, 14, 21 f

25 is 15, then the value of x1
7, 11, 15, %, 14, OF, 25?’@143

15 %, @ x 1 99 ¥
(a) 3
(c) 12 (dp 133‘

The average o 5"11% fumbers is
3.95. The average of two of
them i1s 3.4, while the average
of the other two 1s 3.85. The av-

erage of the remaining two
numbers is

TE HEmal &1 sirad 3.95 ¢ I 9§
2 F1 Ad 3.4 51 F&F 7= 7 wEne
F1 2fEa 3.85 ¥ 99 T wemsd #
ST e 22
(2) 4.6
() 4.5

'm./

(b) 4.8
(d) 4.7

86.

87.

88.

,,,,

Six consecutive numbers are
arranged in decreasing order.
The average of the first five
numbers is 30 and the average
of the last five numbers 15 25.

The difference of the first and
the last numbers is:

BE HANK HEAY Fa! A H Hafd
T Tam 9 e w1 afme 30
2 3l oifm ot Hemsd # ofma 25
21 vo 3R sfm demed w1 s R
(@) S (b) 20

(c) 25 (d) 30

The average expenditure of a
man for the first five months
is ‘1200 and for the next
seven months is '1300. If he

saves 2900 in that year,his
monthly average income is:

U =AfE H Ued U HEAl B W e
'1200 =R 2@l §W WA 1w
'1300 ¥ aft 77 3§ = § 2900 ;
U HEA € A SHH! MG S
foperdt $7 XJ
(@) '1600  (b) *170 'f.’..;,,i“}
(c) ‘1400  (d) 1500
The average of 'ﬁlarks ob-
tained in a amination by
8 Studcntﬁm 51 and by 9
other s;ud,ents was 68. The
average ‘marks of all 17 stu-
wﬁs
eizﬁ % 7F w1 ofea 51 % werw
9 femnfofal & il 1 37E@ 68 21
foanfefa & A #1 ofga =

den

?:IQI
1’4{!41
(@) 59 (b) 59.5

(c) 60 (d) 60.5

A company produces an aver-
age of 4000 items per month
for the first 3 months.

much items,

How
it must produce
on an average per month over
the next 9 months to get aver-
age 4375 items per month over
the whole year?

TF F 4000 S5q¢ 7fd we #= T H
3 WE 9F S €1 39 FHO F el
9 U % feha! o%qy ufd we & I
A e foras e = sirea 4375
(a) 4500 (b) 4600

(c) 4680 (d) 4710

90.

91.

oD 55

92!

i”*lg

93.
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If the average marks of three
batches of 55, 60 and 45 stu-
dents respectively 1is 50, 55
and 60, then the average
marks of all the students is:
" e fai 55,60 1d 45 fomneff
Iufter €, F1 3fma 50,55 w6 60 2
d wedft faenfidl @1 siga 9@ i
(a) 54.68  (b) 53.33
(c) 55 (d) None of these
The average of 30 results 1s 20
and the average of other 20
results is 30. What is the
average of all the results?
30 L S 20 § 9
20 ;3:[ SArga 30 21 wedt wfiommi
AT

(b) 48

(d) S0
The average age of 15 students
“of a class is 15 years. Out of
these the average age of 5 stu-
dents 1s 14 years and that of
the other 9 students is 16
years. The age of the 15th stu-
dent is:
fadt wen ® 15 fomnfefai #1 smg #1
s 15 = &1 fomd 5 faenfelai @
s 14 99 gar s 9 fawnfdai @
sea 16 =6 21 15 4 famneff 7 amg
T w
(a) 11 yrs

[aiw

(b) 15 yrs
(c) 152 yrs (d) 14 yrs

YEAR: 2005

The average of 8 numbers is
20. The average of first two

numbers is 15% and that of

the next three is 21 é . If the

sixth number be less than the
seventh and eighth numbers
by 4 and 7 respectively, then
the eighth number 1s :

8 Hemi #1 dima 20 21 faed yom

s g 1
mmwmaﬂmwa qen 37 qH
; ‘ 1

e # s 213 3 Az 6%

e, 7Y 8 Hen 9 4991 7
FOY: FH B, 91 8" HEm A9 Fi:
(a) 18 (b) 22

(c) 25 (d) 27

|" 673
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94. The average age of 40 students

of a class 1s 15 years. When
10 new students are admitted,
the average is increased by
0.2 year. The average age of
the new students is:

faeft Fan 9 40 fanfefi #1 sfwa 15
o 1 S 10 714 ferenedf wfisfer @ €,
3ed 0.2 a4 57 S 21 T3 famnfeai
I fHd A 6 F0

(a) 15.2 yrs (b) 16 yrs

(c) 16.2 yrs (d) 16.4 yrs

The average of 100 numbers 1is

44. The average of these 100
numbers and 4 other new num-

bers 1s 50. The average of the
four new numbers will be :

100 wems #1 3f9d 44 81 4k =
100 weme dom =1 4 gems =
3 50 7, @ T 4 gEmad 1 dea
T 2
(a) 800 (b) 200
(c) 176 (d) 24

YEAR : 2006

The batting average for 40

95.

96.
innings of a cricket player is
50 runs. His highest score
exceeds his lowest score by
172 runs.

are excluded, the average of the

If these two innings

remaining 38 innings is 48
The highest score of the
player 1is

frelt wooErs F1 40 wiE w1 s -

rmans.

50 ™ 1 dociars aqﬁmn'@m'{f
2 TR Y 1721?3:@3:%1?:@23:1}

< il A et fo <, ?éﬂ%S

i 1 SiEd 48 W & v

F AT SR T WL
T

(a) 165 runs [9{" -lb{g_jmns

(c) 172 runs (d)*174 runs

A batsman in lis 12th innings

makes a score of 63 runs and

there by increases his average

score by 2. What is his average
after the 12th innings ?

TF Feorars 124 T § 63 W 9 2,
e HRU S Agd 2 @ 9g S
21 124 uift & &= T aima wa w2
(a) 13 (b) 39
(c) 41 (d) 87

9.

674 |
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98. Sachin Tendfulkar has a cer- (a) 75 (b) 85
tain average for 11 innings. In
the 12th Lé‘_fmlgs he scoregs 120 (c) 80 (d) 96
runs and thereby increases 102. The average age of 11 players
his average by 5 runs. His of a cricket team decreases by
LW aycLage 15: 2 months when two new play-
| ?%?'m?ﬂ 11 wfell #1 %3 ers are included in the team
sitet &1 12 ff ot & o 120 ¥ T replacing two players of age 17
?, foredt w1 i 5_:{:' w7 ST 21 years and 20 years. The
T[.%'G]Wf)(;ﬂ'l i ;T;;{? average age of new players is :
a

99. The average age of a cricket ' : .
team of 11 players is the same Sufeer 2 ferenfeat fomat o 17 =
as it was 3 years back be- q 20 TP et 3 £ <A
cause 3 of the players whose %& siaa A A\ FL
ey e e fab%‘?*yea“’ ! mmasilh
The average age of the new fB} 17 years 7 months
comers is: . . {fc] 17 years 11 months
:ﬂ:'lﬂ?{m T aﬁﬁa_qm é;:iq;j ;; 3 (d) 18 years 3 months
e ;ﬂw %??W 3 :ﬁfsq?@"% '103. A cricketer had a ce.rtain u’:.iV—
frert foaer A A :{Qﬁ el."age of r'u.ns for .hlS. 64 in-
off, # 3 7 faarte nings. In his 65th innings, he
fira | Fenfeai 51 @mﬂ aﬂﬂ";ﬁ'l?l F17 is. bowled 01{at f01." no score o.n
(a) 23 years (b) 4 }'Bﬁl‘s his part. This brings do.wn his
(c) 22 years dj\ 29, years average by 2 I'l.‘il.fls. His new

100. A cricketer svliose bowling av- average of runs is:
erage is ¥2:4.runs per wicket, s faeret w164 wfal # w9 dma
takes 5@}1&‘(3 for26runsm 2 654 Ut § 97 w3t T 7 =
the innings and thereby ; ;
dec{;@zs his average by 0.4. e &l 1%114?# FIO SHHT S 2 E
Tﬁ 1umber of wickets taken fre s &1 W N iR A w2

I by, him till the last match was (a) 130 (b) 128
,,,, _ wmmmmﬁm (c) 70 (d) 68
v/ 12.4 T ufa fase 2, 5 fade ¥ 26 YEAR: 2007

= o §, foree Hror S5 siEa 0.4
W FH @ W 21 3 o W sww g
foa ™ fased =t den J@ 12

(a) 64 (b) 72

(c) 90 (d) 85

A cricketer whose bowling av-
erage is 24.85 runs per wicket,
takes 5 wickets for 52 runs in
next inning and thereby de-
creases his average by 0.85.
The number of wickets taken
by him till the last match was:
us; fhshet foran Tieanst #ad 24.85
T vfq fae &1 onrelt ol § 9 uew
52 W W 5 faske o 81 fowa Fwor
3HF! 3w 0.85 %W € ST T SEH
T St T aw ot W fade &6
e {6 Hi

101,
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104. Out of nine persons, 8 persons
spent Rs. 30 each for their
meals. The ninth one spent

Rs. 20 more than the average

expenditure of all the nine.

The total money spent by all

of them was:

O wafsrl 3§ @ 8 i T T

30 @E w1 §| 9a oA S I

aden + 20 wfqs = Fa g1 g

gl BW T H/e o9 S w2

(a) Rs. 260

(b) Rs. 290

(c) Rs. 292.50

(d) Rs. 400.50

www.spardha.guru



105.

106.

107

108.

109.
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The mean high temperature
of the first four days of a week
is 25° ¢ whereas the mean of
the last four days is 25.5° c. If
the mean of the whole week
is 25.2°% then the tempera-
ture of the 4% day is:

TF GGR 3 Ted AR fei w1 Sed 3=
q9HHE 25° ¢ & SR g =) 6 w5
3o 25.5% B AR | wewe F e

AR 25.2° ¢ i <0 A = AT g
(a) 25°c  (b) 25.2° ¢
(c) 25.6°c  (d) 25.5%

There were 35 students in a
hostel. If the number of stu-
dents is increased by 7 the ex-
penditure on food increases by
Rs. 42 per day while the aver-
age expenditure of students is
reduced by Rs. 1. What was the
initial expenditure on food per
day ?

el W35 faenedt &) =ft fyenfel
) T 7 9g oI €, d Ao o g
w42 9% S 2, WafE TEE 9 &6
Jigd =1 w9 @ S | SEEE
wfafe yrfas @@=t fan ar?

(a) Rs. 400 (b) Rs. 432
(c) Rs. 442 (d) Rs. 420
YEAR : 2008

Total weekly emoluments of
the workers of a factory is Rs.
1534. Average weekly emolu-
ment of a worker is Rs.118.
The number of workers in the
factory is :

ot Bl § e Wl
A9 v '1534 #1 T
e 30 =118 2
TGl I WA FA FL?

(@) 16 (b) 144
(c) 13 (@12 IS
The average of {li ﬁrst 100 posi-

tive integers is’

TeM 100 ¥AIcTH gemst #1 sEd
I HL?

(a) 100 (b) 51

(c) 50.5 (d) 49.5

The average of odd numbers
upto 100 is

100 % i mét fame i Sid s F9
(a) 50.5 (b) 50
(c) 49.5 (d) 49

110.

LY.

112.

113.

The average of the squares of
first ten natural numbers is
wgm 10 Wems # af % ofwa I
Exl)

(a) 35.5 (b) 36

(c) 37.5 (d) 38.5

The arithmetic mean (aver-

age) of the first 10 whole num-
ber 1is

worm 10 gof gema &1 i wa w7
@ 5 b) 4

(c) 5.5 d) 4.5

The average of seven consecu-
tive positive integers 1s 26. The
smallest of these integers is:
UM AR gEns w1 | 26 €
HOAE DI WA 1 w7

(a) 21 (b) 23

(c) 25 (d) 26

30 pens and 75 pencils alt
gether were purchased far oﬁ‘;
510. If the average p {ég’g
pencil was Rs. 2, what @,s the

average price of a pen? -
1510 ¥ 30 W?S\rrr—‘q-r aiy
T A T A aﬂm qeq ' 2%,
G 11&;: T Fi7
(a) Rs. 9/ Xj;‘fb] Rs. 10
(¢) Rs, 11/ (d) Rs. 12
{ ﬁAR 2009

114. If @y;ai‘age of 20 observations x,,

,,,,

&

is y, then the aver-

..... Jl’2 — 101 1s
20111':F|Tx1, e X, 1 ST
y #1 @, (x, — 101), (x, - 101),
(=B s (x,, - 101) =
sie T H2
(@ y—20  (b) y- 101
(€)20y () 101y

115.The average of x number is y

and average of iy numbers is
X. Then the average of all the
numbers taken together is:

x Tensl w1 divm y vy demst

st x ¥ welt gemst 1 siwa 7| F37

x4y 2xy
[a] 2xy (b] x+y
x4y K
© @) 3oy

. TS

116.

e/

118.

119.

120.
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The average of x numbers is y?
and the average of y numbers

is X2. So the average of all the
numbers taken together is :

X HEmat w1 AEa y? 99 y gemaw
F1 sffma @ 21 at melt demet w0

sfred s 17

Kyt
(@) oy Py
K +y?
© ro ) e

. The average of n numbers x,

X,.....x, 18 ¥. Then the Value

E ¥ al t
O] gﬂ_ﬁg IS equ L8]
x‘@l T X, X, Xyyeeenne x_ 1 #Ad

\M%'laa 3 (x-x) = 5w w2

(a] n (b) O
(c) nx (d) x
The average of three numbers

1s 135. The largest number is
195 and the difference be-

tween the other two is 20.The
smallest number 1s:

& denet #1 aftea 135 21 wad w2t
Fema 195 7 o= 3 deme
=R 20 ¥ a9 T FEA T\ w2
(a) 65 (b) 95

(c) 105 (d) 115

The average of three consecu-
tive odd numbers is 12 more
than one third of the first of
these numbers. What is the
last of the three numbers ?
@ FarT fawm denai w1 sied gem
e # ur-fer § 12 sifiw 31 9=
e o wed Afqw dem 9| w17
(a) 15 (b) 17

(c) 19

(d) Data inadequate

a, b, ¢, d, e, f, gare consecutive
even numbers. j, k, [, m, n are
consecutive odd numbers. The
average of all the numbers is :
a, b, c,d, e, f g, #ArE T T E
i, k, 1, m, n, ®9ma fawm den )
aft T F1 a9 FE2

(a) s[a;nJ (b) (HdJ
(o) 2

Jjretntg
4

(d)

|" 675
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121.

122,

123.

124.

125.

The average of three numbers
1s 40. The first number is
twice the second and the sec-
ond one 1s thrice the third
number. The difference be-
tween the largest and the small-
est numbers is

o dema = Ea 40 €1 v g,
el W w R T aa 3Ed dewn,
Tl dem 1 97 21 wag a9 q:
T B HEen W S A6 FH2
(a) 30 (b) 36

(c) 46 (d) 60

Among three numbers, the
first is twice the second and
thrice the third. If the aver-

age of the three numbers 1s

49.5, then the difference be-
tween the first and the third
number is:

o9 Femat o, vam dem, fedftm Fen
1 1 T q i T F A T e
7% i deme #1 dmd 49.5 %, @
UH qU1 A HEAT S A HL7
(a) 54 (b) 28

(c) 39.5 (d) 41.5

Out of 4 numbers, whose
average 1s 60, the first one 1s
one-fourth of the sum of the
last three. The first number
1s:

9% wHeand, fome siEa 60 31 wud
e, afm d" demei % am o wm
THE-AUE T wem e 9h F7
(a) 15 (b) 45

(c) 48 (d) 60

126.

12

128.

,,,,

The average of six nurnbers is 32. JIf. g
each of first three numbe 'i“ﬁé_"é
increased by 2 and eachgg the

remaining three nu -bers is
decreased by 4, then
is:

3: demsl ﬁﬁf@;.@l % o 3
et i 2 @71 fear s i @
7w demet 1 4w fen 5@
dl T siga | w2

(a) 35 (b) 34

(c) 31 (d) 30

The average of the three num-
bers x, y and z is 45.
greater than the average of y
and z by 9. The average of y and
z 1s greater than y by 2. Then
the difference of x and z is:

{»rf

X is

676 |
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129.

# st x, yaen z #1 sired 45 21
X WH y 90 z % dAEa 9 9 aAfyw
%Iyﬁ%zﬂ@ﬁﬂﬁy@QﬂﬁE%lx
Tl z SR T FL?
(@) 3 () 5
(c) 7 (d) 8
If the average of x and

1 ;
—(x= 0) ig M, then the aver-
X

L
age of x¥* and 2 s

Ifs x qdr %(xi 0) = 3item M2,

qa 2 TE ;1,- F 3id Fa F:E?

(&) 1 -M2 (b) 1 -2M2

(c) 2M*-1 (d) 2M?* + 1

A library has an average num-
ber of 510 wvisitors on Sunday
and 240 on other days. The av-

erage number of visitors p;‘éf
day in a month of 30 W
ginning with Sunday ﬁ}

U Qe AW A S #
o wem R HY S10M@dr e
il 1 240 #1 30 fr = e o
Toar & wwy/er 8, fafem siwm
et 1 e T F12

@) 285 { ) (b) 295

(c) 3007) (d) 290

Thre- teﬂ?erage of 5 consecutive

gﬂn\teéers starting with ‘m’ is n.
Cgn

1at is the average of 6
consecutive integers starting

/‘ v/ with (m+ 2)?

5 FHM Gens & ofed W m §
T B, n ¥ 6 AW e W
a6 L, S (m+2) | 9 B 2

O ) (n+2)

Qn+9

(a)

(n+3)

(c)

Eight consecutive numbers
are given. If the average of the
two numbers that appear in the
middle is 6, then the sum of the
eight given numbers is:

S HANG HEAW < T ) At | o
Suftyd AT desl #1 SiEq 6 =, dr
a3 st W Se 9h F1?2

(a) 54 (b) 64

(c) 36 ) 48

(d)

130.

131.

132.

o™

1&
€/

-

134.

135.
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The average of four consecu-
tive even numbers 1s 15. The

2nd highest number is:

¥R AU 99 demaA w1 3fEa 15 2
THl waE wEl g 9 w2

(a) 12 (b) 18

(c) 14 d) 16

Average of first five odd
multiples of 3 1s

3% v o e T, 1 S S 6 7
(a) 12 (b) 16
(c) 15 (d) 21

The average of four consecu-

tive eve \numbers is 9. Find

the la st number.

kR m T e B s 9 ¥
;aﬁ’l e i) F1?

La} 12 (b) 6

{‘b] 8 (d) 10

In a 20 over match, the re-

quired run rate to win 1s 7.2. If

the run rate is 6 at the end of

the 15th over, the required run
rate to win the match is:

20 3R % = H, s & fow 7.2 @
1 ufd e e =fen afz 15
e F o A IR W L6, A
Stad # fad smavas @ R A6 #2
(a) 1.2 (b) 13.2

(c) 10.8 (d) 12

If the mean of 4 observations
1s 20, when a constant ‘C’ is
added to each observation, the

mean becomes 22. The value
of Cis :

4 7l & sfed 20 #1 S| “CT ol
vaF Fea | Sig o 9@ @ oia
22 & & &1 “C” F 9 F| w7
(a) 6 (b) -

(c) 2 (d) 4

The average weight of 40 chil-
dren of a class 1s 36.2 kg.
When three more children
with weight 42.3 kg, 39.7 kg
and 39.5 kg join the class, the
average weight of the 43 chil-

dren in the class is:

40 fermfofti =T Fan =1 img Ww 36.2
kg 1 afg 9 foned foma o wwe
42.3 kg, 39.7 kg @1 39.5 kg 2,
Fe ¥ gimfe €9 € ®en § Suftem
43 faenferi =1 i 9/ 9@ F97
(a) 39.2 kg (b) 36.5 kg

(c) 38.35 kg (d) 37.3 kg

www.spardha.guru



136.

137.

138.

139.
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The average pocket money of
3 friends A, B, Cis Rs. 80 in a
particular month. If B spends
double and C spends triple of
what A spends during that month
and if the average of their un-
spent pocket money is Rs. 60,
then A spends (in Rs.

dF fisli A, B, C %l #iigd = e
80 %1 &g A =1 ardan B=1 11 @1 C
A T wE= F v s A we
# T uf # SR 60 %, @ A
T A6 w7

(a) Rs. 10 (b) Rs. 20

(c) Re. 30 (d) Rs. 40

5 members of a team are
weighed consecutively and
their average weight calculated
after each member i1s weighed.
If the average weight in-

creases by one kg each time,
how much heavier is the last

player than the first one?

ot <M # 5 wew w1 FAE AR A
T A UEE T F WA & AR
S AR H AN A Yo g SR
a1 kg 7@t &, @ Afan wEe, vem
W g ¥ fea sfus ol 82

() 4ke  (b)20 kg

() 8kg () 5ke

In the atternoon, a student
read 100 pages at the rate of

60 pages per hour. In the
evening, when she was tired,

140.

141.

she read 100 more pages atf:;

the rate of 40 pages per hour.
What was her average rate f ofy D
reading the pages per ho iy

2 Y 109’51'\1 »ﬂﬁﬁ" Tt 2
FHET 1 o e A T AW
(a) 60 (b) 70
(c) 48 d) 50
While purchasing one item

costing Rs. 400, one has to pay
sales tax at 7% and on another
costing Rs. 6400, the sales tax
was 9%. The percentage of
sales tax one has to pay, tak-
ing these items together on an
average 1s:

142.

143.

frdt 400 =t a5 *I Bl 999
Al 7% T 991 U 31 5 Fowt
F * 6400 ¥, 9% 2 AR HET
21 2 et = vEmy wfed T,
=afg faad wfawm 299 <1 Fm?

15
@81 ()8

1
©85; @8

A man purchases milk for
three consecutive years.In
the first year, he purchases
milk at the rate of Rs. 7.50 per
litre, in the second year, at the
rate of Rs. 8.00 per litre and
in the third year, at Rs. 8.50
per litre. If he purchases milk
worth Rs. 4080 each year, the
average price of milk per litre
for the three years is :

eni | uamaﬁf 3T 7. sogsn%r_@a

% W 9 fgdm = 8.00

o G q g o 8,50 sré»*aﬁa #

a9 gy e S 9y

4,080 =1 7 A, zﬁ;ﬁamam?g:aﬂ

s T TR

(a) Rs. 76“8 y(b) Rs. 7.98

(©) Rs, 754 () Rs. 7.83

Slx\taﬁfes and twelve chairs
T bought for Rs. 7,800. If

f’t E average price of a table is

s. 750, then the average price
of a chalr would be :

6 TS g 12 el 7,800 § @it
T A 1 99 W dEd ged © 750 @,
A 1 we # odwd geg A w12

(a) Rs. 250 (b) Rs. 275

(c) Rs. 150 (d) Rs. 175

The average of the first nine in-
tegral multiples of 3 is

3% wom I Ul #1 TEa T6 H2
(a) 21 (b) 12

(c) 15 d) 18

If the average of 6 consecutive
even number is 25, the differ-

ence between the largest and
the smallest number is :

6 FTTE TW Heme 5 olee 25 7,
Y gL a9 TEd R 9 # 3
A w7

(a) 8
(c) 12

(b) 10
(d) 14

144. The average of nine consecu-
tive numbers 1s n. If the next
two numbers are also included
the new average will be
9 wuFE Hemsd w1 e n €1 AR
el 2 Gema #1 of afmfaa e
b= L e o = | T
(a) increase by 2
(b) remain the same
(c) increase by 1.5
(d) increase by 1

145. What is the average of the hrst
six (p Ve] odd number each
of \?ghﬁcb 1s divisible by 7?
um 6 favm demst %1 s 7@+,

g:,------‘\ gy de 7 9 fawfea @7
o oyta) 42 (b) 43
L (c) 47 (d) 49

& 7
\the.

147.

148.

149.
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The average of first ten prime
numbers is

s 10 ST HEmeH H1 sirEa w
F1?

(a) 10.1 (b) 10

(c) 12.9 (d) 13

The average of first three
numbers i1s double of the
fourth number. If the average
of all the four numbers is 12.
Find the 4th number.

o 3 Heast F1 siva, Aefl dem
& T B W demdl # sigd 12 €

=l e s w17
(a) 16 (b) 2
() 20 @ =

The average age of four boys
A, B, C and D is 5 years and
the average age of A, B, D, E is
6 years. C is 8 years old. The
age of E is (in years)

=R e A, B, Caa D& 2ied 39 5
af 81 A, B, DA91 E &1 350 3% 6 94
# CH oy 8 7t ¥l E i 1Y 7 HL
(a) 12 (b) 13

(c) 14 (d) 15

Find the average of cubes of
first 49 positive integers.

et 49 Wemnsi & vl w1 e W w
(a) 30625  (b) 1225

(c) 30125 (d) 6235

|’ 677
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150.

151.

152.

153.

154.

The arithmetic mean of the
following numbers :

1,2,2,3,3,3,4,4,4,4,5
5 5,6,6,6,6,6,6,and 7
T 77, T1s

l‘ 2, 2, 3? 3, 3, 4! 4, 4, 4, 5, 5, 5,
B 5.6,6 6,666, 7,77
7,7, 7, 7 1 GHIGE WIsA |G &17
(a) 4 (b) S

(c) 14 (d) 20

The average of all the num-
bers between 6 and 50 which are
divisible by 5 is

69 50 % &9 wdl demst #1 d|a
w1 w, 5% fawfaa g &2

?5?5’
L

? ?

(@) 27.5  (b) 30
(c) 285 () 22
If a, b, ¢, d, e are five

consecutive odd numbers,
their average is :
a, b, c, d, e 9= Fm foem et

abcde

(a) S(a+4)  (b)

(c) Slatbtctd+e) (d) a+ 4
Average weight of 3 men A, B,
C is 84 kg. Another man D
joins the group and the aver-
age now becomes 80 kg. If an-
other man E whose weight is
3 kg more than that of D re-
places A then the average
weight of B, C,D and E be-
comes 79 kg The weight of A .
in kg is:

@ =afea AB @en C &1 e

84 fmar 21wk N =
<4 G #itga =sE 80 frm.
af% u% = E o 9904 3 f.
. o E, A% S A 2, B,
C, D el E %1 fjfq g 79 fha. &
S % A AF A

() 80 (b) 72

(c) 75 (d) 70

A librarian purchased 50
story-books for his library. But
he saw that he could get 14
books more by spending * 76
more but per book average be-
comes ‘'l less. The average
price (in ') of each book he
bought, was;

\dTl

i &1

678 |
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155

156.

TF SrEeEd S engedl & ford et
1 50 frar wliear €1 aifF 9 o ©
fiF 7 76 ot wd = W 14 frad
T 1 %9 8 S €, d S5k g B
T YdF fRdm #1 ied ed Jd F
(a) 15 (b) 25

(c) 20 (d) 10

The average of some natural
numbers 1s 15. If 30 1s added to
the first number and 5 is sub-
tracted from the last number
the average becomes 17.5 then
the number of natural num-
bers 1s

B WIF HEnsi # e 1521 afx
vow dea | 30 gl = qen SAfaw
HEn | 5 wer s, & ofma 17.5
e a8, Uehd "eme i wen
BTl

(a) 20 (b) 30

() 15 (d) 10 LA
Average of n numbers is .'qule
first number 1s increa: by 2,
second one 1is 1ncreasedﬂ‘by 4,

the third one is inéréaged by 8
and so on. The er‘age of the

new number

n e #)4 &1 weeht we d

QGI:I?;WW TE g H 49

ﬁ?n fﬂ'{mmﬂSaﬁ;‘
%‘ A T v s #

u@waﬂma@mm%tqﬁmm

f@&fﬁmw%?

,,,,

157.

2(28-1) A 271
n

(@) a*

-1

2
e
(d) a+2”

1+l

(c) a+

There is a number consisting
of two digits, the digit in the
units' place is twice than digit
in the tens' place and if 2 sub-
tracted from the sum of the
digits, the difference is equal
to 1/6" of the number. The
number is

3 H H TH T H TFE B W
JTE % TEE &AM a6 e ° g
g R AR 39 < i F A H g 2
A W, A TR SH Hen ® 1/6%
TR Bl T8 G N €7

(a) 23 (b) 25

(c) 26 (d) 24

158.

159.

160.

The average of the largest and
smallest 3 digit numbers
formed by 0,2 and 4 would be
0, 2 3T 4 gR oA FewH A TEE
3 S weMH F SHd F E?
(a) 312 (b) 222

(c) 213 (d) 303

If the average of eight con-
secutive even numbers be 93,

then the greatest number
among them is

af% e SIHiaE g9 gems w1 dea
93 ¥, d 39 Feuw e T F?
[a]lOO (b)102

(c) 86 (d) 98

The, \a;srerage (arithmetic

m@g]} of 3%¢, 3°° and 3*° is

o~ ’3“&, B9 R 30 SERRE A

k|

162.

163.
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7

}____ " (M; (a] 32? + 357 + 387 [‘b] 329 +359 +389
e/
161.

(C] 35'3 [d] 31.?7

A man spends his three
months income in four month
time. If his monthly income is
* 1,000 then his annual sav-
ings is.

TF =fe AT 99 "N W 3 6
W WA § ' wa § A sge
e 3@ 1,000 &, o SHHT aii6E
T T2

(a) * 3,000 (b) * 9,000

(c) * 4,000 (d) " 6,000

A shop of electronic goods re-
mains closed on Monday.The
average sales per day for re-
maining six days of a week 1s°
15640 and the average sale of

Tuesday to Saturday is
14124. The sales on Sunday is:

TR A I g HEER # Ag
wdt T wwe I 6 A W ofta
yfafes faat * 15640 3 WeEn 9

vfEr & efma fast 14124 2
oam =t fawt &

(a) * 23220 (b) 201888
(c) Data inadequate

(d) * 21704

The average of all the odd in-
tegers between 2 an 22 1is:

2 $R 22 # <f | fawm guiisi w6
#ad w1 gm?
() 13

(c) 11

(b) 12
(d) 14
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165.

166.

167.

168.
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A student was asked to find
the value of x, and given the
arithmetic mean is 12 of the
following 12 numbers :

3, 11, 7, 9, 15, 13, 8, 19, 17,
21, 14 and x

% famdl @ x#1 99 99 FH = wel
Ak @ w12 e 3, 11, 7,
9, 15, 13, 8, 19, 17, 21, 14 19 x
F1 TR We 12 F

(@) 3 b)7

(c) 17 (d) 31

Of the three numbers whose
average is 60, the first is one
fourth of the sum of the whole
number. The first number is
I demst =1 3iwa 60 &, afz wem
21 wem e 37

(a) 30 (b) 36

(c) 42 (d) 45

The arithmetic mean of the
scrores of a group of students
in a test was 52. The bright-
est 20% of them secured a
mean score of 80 and the
dullest 25% a mean score of
31. The mean score of re-
maining 55% 1is:

wF wgE § suftem femnfli w1 sdma
52 %1 20% HurEt B 1 sEa 80
& wd 25% w=dfg o @ siwa 31
3 99 BT 55% B F1 3E 76 Hi

(a) 45 (b) 50
(c) 51.4 (d) 54.6
YEAR: 2010

Of the three numbers, the first-
is twice the second an ;b;‘
second 1s thrice the thiwfd. “If
the average of the thpee.num-
bers is 10, the lar n{:mber
s J%

i s uaﬁ*m; farita s
i < T 9 s w5, i e
# A T B Ak A dene @
s 10 8, Gad =€ 9= T i

(a) 12 (b) 15
(c) 18 (d) 30
YEAR: 2011

The average monthly income
of A and B is Rs. 14000, that of
Band Cis Rs. 15600 and A and
C is Rs. 14400. The monthly

income of C is

171.The present

A Fen B &1 Gﬁ‘ﬂﬁ nifas a1y
*14,000, B a1 C #1 =iwa =g
31 °15,600 TS C 71 A # aioa
ifew &/ *14,400 #1 C &t wifgs

AF A HL
(a) 16000  (b) 15000
(c) 14000  (d) 15500

169.The average of first three

numbers is thrice the fourth
number. If the average of all
the four numbers i1s 5, then
find the fourth number.

oW o GEme =1 ded =l gen
w1\ T g1 afy A wemst w
siwd 5@, @ =g e S| w2
(a) 4.5 (b) 5

(c) 2 (d) 4

170. Average of two numbers is 8

and average of other three
numbers i1s 3; the average of
the five numbers is

3t genal @ ol 82 aﬂ?aﬂﬁﬁ
m&ﬂﬁﬂWS%IW@ﬁﬁ
sired =aEe? Y

S
(a) 2

©) 5 ) ,5’

of a father is 3
years mor ff’an three times
the age 6f‘«l&13 son. Three
years hgn ¢, father’s age will
be ars more than twice
the_‘\a‘e of the son. The

father’s
ma’ﬁ}g s age is:

I FAOE AW, SUE I H A H
?ﬁ?ﬂmHSaﬁaﬂﬁ%mﬁqaﬁm

3,\---; foan 1 919, I9F @R AG F A M

¥ 10 af sifuw 21 fyan =1 o1y €
(a) 33 years (b) 39 years
(c) 45 years (d) 40 years

172.In a family of 8 adults and some

minors, the average cons-
umption of rice per head per
month 1s 10.8 kg: while the av-
erage consumption for adults is
15 kg per head and for minors
it is 6 kg per head. The num-
ber of minors in the farmly is :
et ofEm o 8 =15 9o w7 fFur
& 9w # ufa aw i AR wma
10.8kg ?1 s ==a &t @9d 15kg
yfd =&k a1 bkg W RN 2
fereiddl =t wem s w12

(a) 8 (b) 6

(c) 7 (d) 9

173.

The average monthly income (in
Rs.) of certain agricultural work-
ers 1s S and that of other work-
ers is T. The number of agri-
cultural workers is 11 times that
of other workers. Then the av-
erage monthly income (in Rs.)
of all the workers is :

FH FUH K WfGFE 3T S q AT
el F Wiw @ T 81 FH
e, wSEl Y W@l H 11 T ) g
Sifedl F1 sirea wifes @ 9 H17

S+11T S+T
(a) T (b)
(c ] :.:*,@ (d) ﬁg +T
S'EAR 2012

17&, ‘The average monthly salary of

‘f,}‘ \»\\,ﬁ RS

%ﬁf

175.

176.
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fe workers in a workshop 1s
8,500. If the average
monthly salary of 7 technicians
1s Rs.10,000 and average
monthly salary of the rest is Rs.
7,800, the total mamber of worlk-
ers in the workshop 1is

foreft reforen § ol 1 ofa wiew
3T T 3R 8500 &1 ot 7 S=ifvra
Heigll il Sl A 10,000 91 HA
Tl Y ded 2171°7,800 21 wrEien
T et el F HEN 7 FHie

(a) 18 (b) 20
(c) 22 (d) 24
YEAR: 2013

The average of 5 consecutive
natural numbers is M. If the
next three natural numbers are
also included, how much more
than M will the average of these
8 numbers be ?

5 il werE w1 s M 1 4 e
qH wisfae wemsi F1 affen fh 5 ,
o 7 Sl M # e ofer €2

(a) 2 (b) 1

(c) 1.4 (d) 1.5

The average of 10 numbers is
7. If each number is multiplied
by 12, then the average of the
new set of numbers will be

10 demai &1 fwa 7 @1 Rk gew
HeA w12 | 7o fE S a4
sioa Ja F1?
(a) 7

(c) 82

(b) 19
(d) 84
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177.

178.

179.

180.

181.

5 years ago, the average age
of A, B, C and D was 45 years.
With E joining them now, the
average age of all the five is
49 years. How old is E ?
5= vedl, A, B, C e D 1 ¥ a1y
45 7 ot 5@ E wfmfeq & s 2, dr
ol # g g 49 = 8 W 21 E
F Y T HL
(&) 25 years (b) 40 years
(c) 45 years (d) 64 years
The average expenditure of a
man for the first five months
of a year is Rs. 5,000 and for
the next seven months is Rs.
2,300 during a year. His aver-
age monthly expenditure is:
U =AfF F1 U4H uiE "R F Sed
=1 5000 o1 20 7 e F AgE
=142,300 ¥ 39F 3iHd WidE =
B2
(a) Rs. 5,000 (b) Rs. 5,446
(c) Rs. 3,425 (d) Rs. 5,600
YEAR: 2014

In a certain year, the average
monthly income of a person
was Rs. 3,400. For the first
eight months of the years, his
average monthly income was
Rs. 3,160 and for the last five
months, it was Rs. 4,120. His
income in the eighth month
of the year was :

fadt o ¥, foret =afaa =t oiva wfes

3400 B T4 T Wuw 8 HWE® H L

{

182.

183.

184.

A 3R B# #ea wifes 31 ° 15,050
% B st C# siwm afes 3w
15,350 % @i Asir C =+t sirm o
15,200%, 1 A %t Wi 314 faet 57
(a) Rs.15,200 (b) Rs.14,900

(c) Rs.15,500 (d) Rs.15,900

The average age of husband,
wife and their child 3 years
ago was 27 years and that of
wife and the child 5 years ago

was 20 years. The present age
of the husband is:

o, f SR T A F s e
3ad gd 27 = ot SR U w T=
it ofras og 594 gd 20 9 off ofa
1 FAAA A B2

(a) 40 years (b) 35 years

(c) None of the options

(d) SO years

If the difference between the

average of X, y and v, z isé}&
then the difference betvg; (‘e_f}

- ey
x and z is: y P

’Jﬁx,y&'ﬁ!y,zq‘?mﬂ f’ij‘f&ﬁ?

128 d@t xRz % K@w g2
(a) 6 (b) 48/
(c) 24 12

The rati(}}.,@f‘-.fﬂe number of
p]ayers;‘i"n,:\ﬁfle three cricket
teams.A,'Bf and Cis 2:5:3. If the

ratiel ofmumber of runs scored

p{f %Tgyer for each of the
L thr

e teams A, B, and C, 1s 30:

“ 7: 25 respectively, then what

,,,,

"

s wifas @ 3160 @ s 50

e F siwd 4120 1 A FEEL
EE W F AT FE F? {(;
(a) Rs. 3,160 (b) Rs. 5,080~

(c) Rs. 15,520 (dyRs)3,520
The average of% in"e\*“zd\bnsecu—
tive odd numbMBess is" 53. The
least odd number is :

9 wHMd faun Hems w1 simd 53 €1
T BiE fawm dem 7e w52

(a) 22 (b) 27

(c) 35 (d) 45

The average monthly income of
A and B is Rs. 15,050, the aver-
age monthly income of B and C
is Rs. 15,350 and the average in-
come of A and C is Rs. 15,200.
The monthly income of A is.

680 |
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185.

is the average number of runs
scored per player across all
the three teams collectively?

A, B 3R C o fwehe dHi & faenfed
F wen W agTa 2 : 5 : 381 A
i & A, B, 3t C & s et
% #rea T #1 @9E 30 : 17 : 25
g @ AfeF w9 9 9 dF A9 oA
v faare @/ s e o S

sitaa e F= Enf?
(a) 20 (b) 21
) 22 (d) 23

If the average of 5 consecutive
integers is x then, find the
average of next to next 5
consecutive integers.

=f& 5 FETE YorE W oied x & A
T W 3T 5 FHA YoiE = Sied
T H

(a)x+ 5
(c) x+ 10

(b)x +5
(d)x + 25

186. The average age of 7 members

18
o~

e)

of a family is 40 years. In the
family, there are three men,
three women and one boy. If
the average age of three men
is 48 years and average age
of three women 1s 44 years,
then the age of the boy is:

wF TER F 7 wEel w1 dwa @y
40 = 2| vftar ¥ &7 e, d9 wfeerd
3R U g 81 AR d g w5 sl
1 44d% < e # ey foradl 2
[ab%; yis/md (b) 2 yrs/ad

{é};‘f’ yrs/@4 (d) 8 years /=

The average salary of all the
" associates in a team is 16000.
The average salary of 7 senior
associates is 24000 and the
average salary of the rest is
12000. How many associates
work in that team?

TF T B A9 wEw # i aad
16000 #1 7 =fts §ew@li #1 #|d
99 ' 24000 2 wH W WEE &l
g a9 ' 12000 21 39 ga H
fred wew w1 w22

(a) 21 (b) 22
(c) 23 (d) 24
188. An elevator can carry

Copyright © All Rights Reserved | https://spardha.guru/

maximum of 16 passengers
with an average weight of 80
kg. However, four boys more
than the maximum carrying
capacity of the
entered it

elevator
making the
average weight as 86 kg and
overloading the elevator. What
is the average weight of those
four boys?

wF fode 80 faeimm sfivd 9r §feq
sferram 16 @l =1 @ 1 w21
et forde #1 e | aafus ¥R o
I weh fawr H wav we 3uH
oiga 9R # 86 fH.m 1 W & IR
fame #1 wdEEe #1 3@ € = =n
@EH F1 HAEd WR F Em?

(a) 112 kg (b) 108 kg

(c) 110 kg (d) 98 kg
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189.

190.

191,

192,
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A set A consists of integers 27,
28, 30 and 33. If integer k 1s
included in the set, the
average of set A will increase
by 30%. What is the value of
integer K?

¥z AH 27, 28, 30 iR 33 yoiE 1
Iz g K =1 &2 & afmfed R s
2 @ % A% #wa 30 wfwm 3fs
erftl o K & 5 = 82

(a) 68 (b) 79

(c) 73.75 (d) 75.25

The average age of a family
with 5 members 1s 28. If one
of the members of age 20 is

excluded the average age of
the family becomes-

I TEEl g 9fan H weEi &t
sirad a7 28 79 21 9fg 20 96 & wH
W@ F e G S aian w5
g ey fead aft?
(a) 25 (b) 20
(c) 30 (d) 24
The average of the first 3
whole numbers in a given se-
ries is 24 and the average of

the remaining whole numbers
is 18. What will be the aver-

age of all the numbers of this
series?

< g e | ved di i Hems w5
i 24 ® AR 99 @9 gy gui gemnat
oEd 18 B T9 JEen #t g genat
1 SiEd FEm?

(a) Less than 18/18 § &H

193.

194

195.

,,,,

The average marks of a class
of 35 children 1s 35. the
marks of one of the student,

who got 35, was incorrectly
entered as 65. What 1s the

correct average of the class?
35 =l F1 TF Fan  30wd 5% 35
%1 35 3% Wa = 9 U famefi &
% et ¥ 65 fer@ o wan wowEt
afrem 22

(a) 33.76 (b) 34.14
(c) 35.24 (d) 36.50
The average age of 36

students in a group 1s 14
years. When the teacher's age
1s included in it, the average
increases by one year. The
teacher's age in years is

36 SE & TF Gge + sitEd ong 14
o ¥ 4 wud foew w1 A wfier
FT 4 W € q Sed o A 9 S
?1 T w1 wr forer = 22

(a) 31 (b) 51
(c) 36 (d) 50

The average age of a

0 0y’
éﬁ}é of
39 students is lg}:ye\:‘arﬁs If the

4§ included,
then the gvgf?ﬁ?p increases by

3 montl}s‘i}f}ﬁd the age of the

tea%h,x |

sgasia‘z‘saﬁ@mmﬁaﬁnaarrg 15
(R AR S w9 e S

‘u‘ﬁq At dga @ 3 e 99 A 2

age of the teach

(b) Between 18 and 24/18 dﬂ'{f V2 s # e T F

24 %
(c) More than 24/24 ¥ aﬁﬁ‘

(d) Cannot be determﬁ;ed/
frife =2 fepan =

The average rai a};,l for a
week excluding, Saturday was
0.5 cm. But théré,was a heavy
rain on Saturday and the av-
erage rainfall for the week
raised by 1.5 cm. Then the
rainfall on Saturday 1s:

vifar =t TEHt UF gaw ¥ g6 #5
3Fd 0.5 Fer a1 g vfHar =i
aga I Tl g iR uwre | a9l @5
#HEd 1.5 gdHer ag @ dl e
=i Tt oot g2

(b) 7.5 cm

(d) 6.5 cm

\

(a) 6 cm
(c) 11 cm

196.

(a) 30
(c) 35

(b) 25

(d) 40

The average of 15 numbers is
7. If the average of the first 8
numbers is 6.5 and the
average of the last 8 numbers
is 8.5 then middle number is
15 wemat @1 sied 7 %1 4fE vech 8
Hemsi #1 3\ 6.5 7 i sfaw 8
sl &1 ed 8.5 81 d dta ael
Trd Fifsd?
(a) 10

(c) 13

(b) 23
) 15

197.

198.

If the Arithmetic mean of
7,5,13,x and 9 is 10, then the
value of x 1s

g 7,5,13,x, 991 9 # 2i|a 10 =,
d x H WA 1 Em?

(a) 10 (b) 12

(c) 14 (d) 16

The average weight of 10

parcels 1s 1.7 kg. Addition of a
the
average weight by 60 gram.
What %he weight (in kg) of
the., f)arcel'«"
1%trfeﬁxwaﬁmam 1.7 % &
= e frerd W s | 60
}m FH € W €AY T F a9

new parcel reduces

ON\U g fem 22

%f*lg

199.

200.

Copyright © All Rights Reserved | https://spardha.guru/

(a) 1.04 (b) 1.08

(c) 1.4 (d) 1.8

The average marks obtained
by a class of 60 students 1s 65.
The average marks of half of
the students is found to be 85.
The average marks of the
remaining students is

60 famfeial =t us Fen o ura ofHt
F1 3d 65 8 STH ¥ e fanfuat
A1 s 85 of% ura fEr W ¥,
Fifera?

(a) 35 (b) 45

(c) 55 (d) 65

The average temperature of
Monday, Tuesday, Wednesday
and Thursday is 60°, the
average for Tuesday,
Wednesday, Thursday and
Friday 1s 63° ; if the ratio of
temperature for Monday and
Friday 1s 21 : 25, then what 1s
the temperature of Friday?
HHAR, HIEER, YA SR geeiEn
F1 siigd q9EH 60° B HEER, 94
a1, gewiien 3R YFEAR 1 A
q9EE 63° 71 AfE GHER SR JEHAR

% aHE W sEEE 21 ;25 % @
AR &1 AT F 87
(a) 70° (b) 73°
(c) 75° (d) 78°
|" 681
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201.

202.

203.

204.

205.

The average height of 30 boys
out of a class of 50 is 160 cm.
If the average height of the
remaining boys is 165 cm, the
average height of the whole
class (in cm) is:

50 gt ®t TFE H4 H 30 TSFH Bl
sira e 160 9. 21 9f% 9 w=wi
# g wE 165 . €, i ot
w1 oiEd o (6. W) fEa
g7

(a) 161 (b) 162

(c) 163 (d) 164

The average of a,b,c is 20 and
that of b,c,d is 25; if d=30, then
the value of a is

ab,c 1 dATa 202 3 b,c, d =
#|a 25 #1 3k d=30, 9 a F AH
1 77

(a) 25 (b) 45

(c) 30 (d) 15

The average monthly salary of
19 members of a group 1s *
16000. If one more member
whose monthly salary is °
20,000 has joined the group,
then the average salary of the
group is

19 =i & UH Y4 w1 HAHd HifhgE
9 ' 16000 &1 4 =ft 35 qu § °
20,000 wifg® 369 e TF O
e ot wnfie & W, S oIE g9 @
sl mifees S foamn & Sz
(a)* 18250 (b)' 16200

(c) * 18000 (d)* 16250

Average runs scored b &%‘i ’é 208.

players of a cricket tean 23

runs. If the first player-scored
113 runs. Find tpép‘: erage
runs of the ‘:r?gaining
players. /j

11 vt 2 T e a3 ok
23 @ =) Ak vee faemet 7 113
W W B A a faefeal % dma
™ A HIf?
(a) 8 runs  (b) 12 runs
(d) 27 runs

The average age of 10 children
is 9 years 9 months. The
average of 9 children 1s 8
yvears 11 months. What 1s the
age of the tenth child?

(¢) 14 runs

682 |
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. Mukesh has t

10 &= #1 3irgq 21 9 = 9 HE #|
9 =i #1 #fgd @g 8 = 11 wg 21
g wed F g R 22

(a) 17 years 3 months
(b) 18 years
(c) 17 years
(d) 18 years

4 months
5 months
3 months

. The batting average for 40

inings of a cricket player 1s 50
runs . His highest score exceeds
his lowest score by 172 runs . If
these two innings are excluded
, the average of the remaining
38 mnings is 48 runs. The high-

est score of the player is

fodt frde & figenat =1 40 Wi &
oot F1 3Ed 50 W 81 SHH oy
FY TR 3T 999 W H 172 ™
sifim 21 afk 1 it =1 e = o o
wme dt 9 38 wiftEl #1 e @ 48
m%ﬁaa@maﬁmuﬁtaﬂw
(a) 165 (b) 170 & ;n

(c) 172 [d] 174 @fif

e .ag ymuch
money as Soha: Sohanl has
50% more mgoney tflan pankaj.
If the avera I%bney with them
is Rs. 11@ ’thén Mukesh has

WEWFW%lﬁﬁE
w%’?}l 50% =it GFafer 21 A
?f-‘rm sfea safr 110 = & &

f@ﬂaﬁwmﬁ’r e & 2

(a) 155 (b) 160

(c) 180 (d) 175

The average daily income of 7
men, 11 woman and 2 boys is
Rs. 257. 50. If the average daily
income of the men is Rs. 10
more than that of woman and
the average daily income of
the women is Rs. 10 more
than that of boys the average
daily income of a man is

7 ged ,11 fomi ok 2 = #
¥wa ¥fFF sm 257.50 ® ¥ AR
R L
#irad &t o 10 ® aifess € ek
ferdi #1 3fmd SHF 9@ aEw @
sra 3 o ¥ 10 ® afus @
AL fF F 7E F1 aiem o o
formt & 2

209.

214
o\
e)

211
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(a) Rs. 277.5 (b) Rs. 250

(c) Rs. 265 (d) Rs. 257
A batman has a certain
average of runs for 12

innings. In the 13th inning he
scores 96 runs there by
increasing his average by 5
runs. What will be his average
after 13th inning?

frdt aoomrs w1 12 9@ #1
fafeer sifea 21 134F o0 & 92 96 W
= € for wen 35 ofred ¥ 5
Eﬁqug‘fslﬁr%l 1347 oift & ==
BT & 9 Em?

@267 () 32

(cméé (d) 42

(\}eaﬂl of 8 persons joins in a
ghooting competition. The
best marksman scored 85
points. If he had scored 92
points, the average score for
the team would have been 84.
The number of points the
team scored was

8 =afEaf w1 uF =@ gpfen wfeEttm o
AN 1 81 Haitaw faemd 85 aiE
fierd %1 afs 389 92 3% WG fwu g9
39 <ol F AEd SRR 84
34 Td BN I U 0 HF TR
(a) 672 (b) 665

(c) 645 (d) 588

A librarian purchased 60 story
books for his library. But he
found that he could get 4 extra
books by spending * 336 more
and then the overall average
price per book would be
reduced by Rupees 1. The
previous average price of each
book was

TF AR AT W & e
60 Fert F TEE wiEA ¥ AfET
3¢ FW e ¢ fF Ak 9% 336 3N
T F@ ¢ A 9% 4 afafe
F9 F GEHA ¢ AN T HE W 9
K il wHA sl winda C 1 wH 8l
S U G # UEd # Ad
FIHd 27

(a) * 84 (b) © 83

(c) 68 (d)* 100
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213.

214.
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In an exam, the average
marks cobtained by John in
English, Math, Hindi and
Drawing were 50. His average
mark in Maths, Science,
Social Studies and Craft were
70. If the averge mark in all
seven subjects i1s 58, his score
in Maths was

Tk T #, 99 & AU, v, fest
3T gEn ¥ AHa wriE 50 91 38
Tt fasm, TaTe-fasme awn wRE o
#ad wwiw 70 9 3z i % @t 7
feroaf = gl 1 siEd 58 w1,
g & Wi fea 47

(a) S0 (b) 52

(c) 60 d) 74

The average weight of 3 men,
A, B and C 1s 84 kg. Another
man D joins the group and the
average now becomes 80 kg.
If another man E whose
weight 1s 3 kg more than that
of D, replaces A then the
average weight of B, C, D and
E becomes 79 kg. What is the
weight of A?

d7 =afsa A, B @it C @1 9r 84
fareium 81w 3iv safw D o wfge
& S ¥ SR SiEa 9R 80 fremm
S @ AR TF IR = E e
51 D @ @ ffell s @ A A H
TfE % € dl B, C, D iR E
#Ha 91 79 fHamm 8 S €1 A F
HRFE w0

(a) 70 kg. (b) 72 kg.

(c) 75 kg.  (d) 80 kg.

An hour-long test ha
problems. If a stéeht
completes 30 probl n “m 25
minutes, then t required
seconds he has ‘taken on
average for coﬁ ting each of
the remaining g%oblems 18
feeft we =2 wvall wfan § 60 wed
i ¥ af ¢ fammedf 25 fime 7 30
W H A E a9 v § g v
F QU FE H ofrmm 39 fRa 9Eve
T 2

(a) 70 seconds /70 F=vz

(b) 50 seconds/50 F=HvE

(c) 40 seconds/40 ##HvE

(d) 30 seconds/30 #HUE

60°

215.

216.

217.

,,,,

218.

A and B have their annual
average income -~ 80,000. B
and C have their annual
average income ° 75,000. C
and A have their annual
average T 78,000.
The annual income of A 1s?
A #itt B 1 arfils stwq @
* 80,000 21 B 3 C %1 =it 3irwa
A 75,000 81 C 3T A = At
drag am 78,000 #1 A F =anfiw
M =aET?

(a) * 81000 (b) ~ 82000

(c) * 83000 (d) - 84000

A car travels from A to B with
40 km/h and returns from B
to A with 60 km/h. Its

average speed during the
whole journey is

FE FR A G Baw 40 fefiem
THRR G a6 F § AR B A ®
60 T sz =i T;?‘{mﬁ fﬁ'qf?;
HAgUT AT H FE A 7
(a) 48 km/h/48 ﬁ::ﬁ?r‘;w
(b) 50 klﬁfll,/SOfmm
(c) 45 km/h/45 QI it
() 60 kun/! ,(6’?@ Ex-ifecit

income

The ayegége [artlhmetic
mean) amount of savings of
tenf/ ents is ' 600. Three

ﬂ‘i’e students have no
{’Sa‘wflgs at all and each of the
Diers have at least * 250
including Nihar, who has
* 1300. The largest

amount in

exactly

that any one
student could have 1s

=9 Bl #1 99d #1 dEa (HFforda
we) W C 600 #1 3 W UH ¥
4 ¥ ycds % F9 9 w9 ° 250 F
F99 & o frer &1 ° 1300 #t
TG ¢ AAEIY FTA F T F2 T

(F ~ ) %1 & wFdt 87
(a) 3250 (b) 3450
(c) 3650 (d) 3850

An Army of 12000 consists of
Europeans and Indian. The
average height of European is
5 feet 10 inches and that of
an Indian 1s 5 feet 9 inches
and that of the whole army is

219.

3
5 feet 91 inches. Then the

number of Indians in the
army 1s?

12000 S&Hi 1 &1 § E F9
IR O sEaE € g sEE #
it o 5 e 10 39 & of w9y
Sl 1 s aEg 5 ge 9 T §
a0 Tl G A e e 5 e

9% g 4 ¥ F e AP o

e F Eh?
(a) 300 (b) 4000
(c),5 cf",e (d) 2700

sym of three consective
»even? nurnbeﬁs is 28 more than

o- "th%e average of these three
(J frumbers.Then the smallest of

iﬁlg

220.

221
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these numbers 1s

A HHNE 99 demal w1 Wi g dEt
gema % aidd | 28 21w 21 3 el
Hemet | 9 99d 3 g aaey ?
(a) 6 (b) 16

(c) 12 (d) 14

Fifteen movie theatres aver-
age 600 customers per the-
atre per day. If six of the the-
atres close down but the total
theatre attendence stays the
same, then the average daily
attendendce per the remain-
ing theatres is

15 =efea fomedi § siaed wfa fam
v fored § 600 < oW B Al
ITH § 6 o o= 81 T T forae
o o aren it Hor safeft 99 wd 2
ot o feren § § v fuder | il
(a) 900 (b) 1000

(¢) 1100 (d) 1200

The average of 3 consecutive
even numbers is A. If next 5
even number are added then
what is the average of these 8
numbers?

3 HATE TH FEms #1 o A € AR
SRl 5 T wemst i e R s
€l 3 8 Wemsd # dwa o €7
(a) A+ 3 (b) A+ 4

(c) A+5 (d) A+7

|" 683

www.spardha.guru



222. A batsman makes a score of 226. 5 Years ago the average age

223,

224,

225.

111 runs in the 10* match and
thus increases his average
runs per match by 5. What wall
be his average after the 10th
match?

TF Fectars 10-3 #9111 W a9
2 @r T uER s W9 W IuE
3id 5 9 Wil €1 10 ¥ = F 9
IUH  SiEd w1 g7

(a) 66 (b) 61

(c) 62 (d) 64

What is the average of all
numbers between 9 and 90
which are divisible by 8?

9 3T 90 # == weft wema #1 A
TS 8 ¥ WA w7

(a) 53 (b) 52

(c) 51 (d) 50

Average age of 20 student is
21 years. 2 students leave the
group and 1 new student joins
the group. The average now
becomes 20 years. If age of
one of the student who left the
group is 26 years and the one
who joined is 20 years, then
what is the age (in years) of
other student who left the
group?

20 BHEf it 3imd og 21 =6 21 2 B
ST =6 S T T 1T BH T
o §g o 81 e a/| 20 = 8 S
21 4% Srea 9 o= § 9 0 A
3ﬂ26ﬂ%m5ﬁ11$ﬂ"1€ﬂ§3l%
IEH 3 20 a9 T, o 99E = F
T A F AR (I WP F

(a) 20 b)34 & 2

(c) 22 (d) 12‘/;
The average of 5 };ﬁ)er of a

family is 24 /years. If the
youngest mem}f‘éi‘ 15 8 years
old, then what was the
average age (in years) of the
family at the time of the birth
of the youngest member?

Tk 9fER ® 5 weE #i amd g 24
T €1 7k 7o PR T 1 oy 8 o
% W T SR AR F S W
e w5t e am (a), Fa i
(a) 15 (b) 20

(c) 12 (d) 14
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of a family which includes
father, mother and a son was
35 years.3 years ago the
average age of father and
mother was 46 years, what 1s
the present age (in years)of
the son?

5o & uF uftEr fawd A fian qer
OF T §, 39 2iww ary 35 = o 3
o g& i e fod w2 o 46 3
ot 73 F aEE A (ot H) R 87
(a) 20 (b) 24

(c) 26 (d) 22

227. Average age of a team having

12 players 1s 23 vears . If the
age of the coach is also included
,then the average age
increases by 2 years. What is
the age (in vears) of the coach?
12 foarfedl act = =@

a1 23 = 1 e S A

ITHA & S 2, dl sl ﬁlﬁwf
o Sl 21 Wi w1 {g‘?ﬁ )
@4 (47

(c) 49

£

228. The aveﬁaé:g‘ age of 120

,,,,

member€ of/a society is 60.7
yeawﬁy"addition of 30 new
merﬁbc‘f‘s the average age
bgc mes 56. 3yvears.What is
%e average age (in years) of
rfewly joined members'-’

60.7 =4 &1 30 7w % em*mﬁm
%1 56.3 =3 B S 21 AU A 30
e & oA @ (A ¥) fEa 22
(a) 36.5 (b) 37.2
(c) 38.3 (d) 38.7

229. The average age of 6 member

of a family 1s 20 years. If the
age of the servant is included,
then the average age increase
by 25%.What is the age (in
years) of the servant?

T UfER & 6 FeEl @t afga @ 20
a9 %1 Afg A H= ey F1 wnfae fE
Sl €, @ sl Ay d§ 25% # 9is
gt 21 Fe T ey (ael ®) w®w g2
(a) 30 (b) 35

(c) 50 (d) 55

. TS

230.

231.

e/

230

233.

234.
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In a match. average of runs
scored by 7 players is 53. If the
runs scored by 6 players are
121,40,26,56,37 and 48, then
how many runs did the 7th
player scored?

wF T § 7 faefedi $ g ae
1 3tma 53 @1 4k 6 faenfedi & 3w
=T T H 121,40,26,56,37 9 48
€, @ 73 faerel 3 feat @ S gy
() 26 (b) 37

(c) 43 (d) 48

The average age of 24 students
is 12 yeats, It was observed that
whlle{:i;ulatmg the average
ag&" € age of a student was

taie@i as 14 years instead of 8
“years. what will be the correct

average age (in years)?

24 B # #irma =y 12 34 21 FafE
gd & diFHed F WA UF SH H
s 8 T 14 7 o T o
el ofted e (It #) @ end?
(a) 11.25 (b) 11.5

(c) 11.75 (d) 12.25

The average of run conceded

by a bowler in 5 matches in
45 and 15.75 in other 4

matches. What is the average
runs conceded by the bowler
in 9 matches ?

TF EA g 5 A fu W ovm @
45 T T T 4 4 T 15.75 ¢ 9 T
¥ T % g U W e o e 87
(a) 15 (b) 32

(c) 35 (d)53.5

a,b and c are 3 values, such
thata+b=5,b+c=75andc
+ a =8.5 what will be the aver-
age of these values?

3HET a,b 1 ¢ TWUFN 2 7% a
+b=5b+c=75 A c+a
=8.5 1 T genal % ArHa F 2m?
(a) 1.5 (b) 3

(c) 3.5 (d) 4.5

Seven friends spent Rs 14
each on a project and the
eighth friend spent Rs 21 more
than the average expenditure
of all eight of them. What is
the amount of total money (in

Rs) spent by them?
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237.

238.
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T i 7 ¥ UEE e W14 F E@
Rl & qar oved fr 7 B ot & SR
= W21 F IR Ed R 81 mm
wH O F T (EH) R 22
(a) 133 (b) 136

(c) 141 (d) 155

The average age of Ram and
Rahim 1s 18 years, The aver-
age age of Rahim and Ramesh
is 25 years, The average age
of Ram and Ramesh is 29
yvears. What is the age (in
yvears) of the eldest of the
three?

T 99 WH # i @y 18 9 e
W ae TR F e @ 25 a9 2
T 99 W FHI 36 3 29 99 21 A4
Y g o &g (I H) R 82
(a) 14 (b) 22

(c) 28 (d) 36

The average age of a class of
6 girls 1s x years. Four new
girls having ages x- 2, x+ 2, x
+ 4 and x + 6 join the class.

What i1s the new average age
(in years) of the class?

6 wefral F1 UF e F ofEa g x

af #1 4 Tt wsfeal, farat oy x—

2, X+2,x+4aqMx+6 ¢, FanH

wnfiet foRan Siren 81 ®en =t R sdrga

o (el #) #0087

() x+1 (b) x +2

(c) 245x  (d) x+2.5

What is the average of first _
93 natural numbers?

yaH 93 wigfaw wems w1 A,
frat 37 N
(@) 45 (b) 46 {f»

(c) 47

(d) 4@{,{,{ )
A group of boys haé an’average
weight of 36 kg. ne'ﬁo} weight

42 kg leaves L&a group and
another boy Welght 30 kg join
the group. If the average now
become 35.7 kg, then how
many boys are there in the
group?

TEF F UF GYE F1 SEd 9N 36 .
T B U dSH s 9 42 fea
& 9% T 9 Wl ST § 9 S AgH
fmat wr 30 R 2, 998 § wifte
& s @1 aft wgE @ e R sE
35.7 . . ® 7 ugE ¥ e ored 87

239.

240.

241.

,,,,

b e¢

(a) 30 (b) 32

(c) 40 (d) 56

The average of 8 consecutive
nautral numbers 1s 38.5. What
is the largest of these 8 num-
bers?

8 FHW Wl densi #1 siwd 38.5
2139 8 Hem § ¥ 99 Wen A 9 8
(a) 41 (b) 39

(c) 42 (d) 45

The average weight of 100 stu-
dents 1s 32kg. The average
weight of first 49 students is
30 kg and of last 50 students
is 34 kg. What is the weight
(in kg) of the 50%* student?
100 T 1 SiEd 91 32 fEa. ) et
49 B #1 e 9r 30 fRw € A
aifem 50 B 1 siEd 9r 34 R 2
503 3@ % 9r (Fra §) =0 22

(a) 25 (b) 30 ;

(c) 32 (d) 33 A2
In a class of 50 studen e :
are 27 boys. The erage
weight of these boys 1872 Kg
and average weight of -the full
class 1s 55.44 k What is the

average weigh \[1n’kgs] of the
girls of th\e@iﬁs?

50 m‘faﬁfﬂa}#ﬁn a=E B o

TSH F g5 72 TR i
{ﬁ%aﬁ'ﬂam 55.44 fHm. 21
maﬁ*‘ammafmam(%m
)

%) 42 (b) 48

(c) 30 (d) 36

2’;42 3 number whose average is

112, the first number 1s 1/6th
the sum of other 2. What is
the first number?

3 AT foat sid 112 &, 399 veet
Hem = °E o 2 geet & % A
F1 1/6-a1 9N €| Yl HeA F Brt?
(a) 45 (b) 30
(c) 15 (d) 48

243. The average weight of P, Q and

R i1s 45 kg. If the average
weight of Pand Q be 36.5 kg and
that of Q and R be 52 kg, then
what 1is the weight (in kgs) of Q?
P, Q 3 R %1 3i6d [ 45 & 21
7fs P st Q =1 sirea == 36.5 BRm
£ @ Q 2R R %1 affwa =@ 52 f.
. %, @ Q # =5 (Frw ) faam 22

244.

245.

f \b (c) 33
Y246,

247.

248.
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(a) 42 (b) 44

(c) 46 (d) 48

What 1s the average of all
numbers between 11 and 80
which are divisible by 6?

1SR 80 @ dw |l Hemsh @
SNTE TR S o6 ¥ uRg B?

(a) 46 (b) 47

(c) 44 (d) 45

A batsman makes a score of 81
runs in the 16th match and
thus increases his average
runs per match by 3. What is
his ave;age after the 16th
match

L ﬁﬁaﬁaﬁmmm%‘u

9 v i T S 3 {9 ST

%jwaﬁaa‘:aﬁmaﬁmw%?
) 35 (b) 34
(d) 36

The average of four consecu-

tive odd numbers i1s 64. What
is the value of largest num-
ber?

= TER faaw Semsi #1 S7Ed 64 2
faeTeT (ASRR) HEm w1 O A 27
(a) 65 (b) 69

(c) 71 (d) 67

In the first 45 overs of a 50
over innings, the run rate was
5.8 runs per over. What 1s the
required run rate in the
remaining overs to reach the
target of 295 runs?

50 S F U W TEd 45 SR § W
T 5.8 W Wfd SdET o1 295 | & @8
% e & faw ¥ w= el o
FEAYIE W 2 F 22

(a) 6.9 (b) 6.8

(c) 6.7 (d) 6.6

The average marks of 40
students in an examination
was 25. It was later found that
the marks of one student had
been wrongly entered as 73
instead of 37. What 1s the
value of correct average?

TH qen F 40 9 % %W % 25
¥ a) ¥ 9e 9 T F U 9 & S
e T W 37 F q99 73 w9 H
fFu %1 G siwd w1 AR w82
(a) 24.3 (b) 24.1

(c) 24.5 (d) 24.7

|" 685
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249.

250.

251.

252.

253.

254.

The average weight of P, Q and
R is 47 kg. If the average
weight of P and Q be 32.5 kg
and that of Q and R be 48.5 kg,
then what 1s the weight of Q

(in kgs)?

P, Q ¥t R %1 @A a7 47 fRm €
afg P iR Q #1 igd o= 32.5 fk.m
Q R R 1 imd a9 48.5 fwm &,
9 Q # T (frw. &) =1 87

(a) 25 (b) 21

(c) 29 (d) 33

What is the average of all natu-
ral numbers from 21 to 39?

21 | 39 TF & i wiwfas demst
I o = €2

(2) 30 (b) 31

(c) 29 (d) 28

Of the 3 numbers whose av-
erage 1s 40, the first 1s 1/3 rd
the sum of other 2. What 1s
the first number?

3 ST S 40§, I W UEA 3 37
i & dm @l 13 #1 Al ee s o 87
(2) 20 (b) 50

(c) 25 (d) 30

In the first 40 overs of a 50 over
innings, the run rate was 4.8
runs/over. What is the required
run rate in the remaining 10 overs
to reach the target of 241 runs?
50 ST @ 9§ weel 40 SEd § |
I 4.8 TUHAER o1l 241 T F A TH
g & fau vw 10 el o savas

255.

256.

257.

() 1100 (b) 1500

(c) 1400 (d) 1250

What is the average of the
squares of the first 19 natural
numbers?

qUH 19 UiEfaE Hemsdi & an #w+
A = 22

(a) 124 (b) 127.5

(c) 130 (d) 133.5
Eleven friends spent Rs 19
each on a tour and the twelfth
friend spent Rs 11 less than
the average expenditure of all
twelve of them. What is the to-

tal money (in Rs) spent by
them?

e i § 9w 3 U 9o W19
% wd fF5d § 9o aned fiw 3wt

TE F G EE G 11T FH @A e

& o7 3w F1 e i (?»ﬂ)
1 7 fo
(@) 216 0227 oy
. Sl
() 236 (d) 247 fﬁ}
The average age of four“”mem—
bers of a family i ‘&deals If

the age of a gueeifcs included,
then the ;"6& age age in-
creases byi 121:5% What is the

M{Wﬁﬂhﬁﬁmmwﬁﬂ
g;:m%— A i o 12.5% 9 95
& Afafs F1 3y (I #)

of # R e e,

(a) 6.7 (b) 6.5 e B 52 (b) 56

(c) 6.3 (d)4.9 N s (d) 12

What i1s the average o §H 258. The average age of Rustam
numbers between 8 ﬁ;(‘ 4 and Preetam is 39 years. The
which are divisible b

8 3T 74 % == @t @%aﬂ'ﬂa
187 @ faas @S

(&) 40 (8 41

(c) 42 (d)43

The average cost of 4 items 1n
a shopping list 1s Rs 1,250. If
one more item whose cost is Rs
2,000 is added to the list what
will be the new average (in Rs)?
e T g A 4 g #odwEa
@ Rs. 1,250 ¥ 571 T% 3R 9%
59 o H S W S 9= Rs.
2000 ¥, 9 37 TR T A (T H)
M EM?

686 |
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average age of Preetam and
Geetam is 28 years. The av-
erage age of Rustam and
Geetam is 34 years. What will
be the age (in years) of the
youngest of the three after 10
vears?

w%q 9 We i afrad 31 39 = 2
Wiem qen w1 2ied @ 28 ad
FLH a1 od 1 a3 34 99 7
= ¥ T B Foamg (I9 W) 10
a4 A FOE?

(a) 13 (b) 23

(c) 33 (d) 43

259. The average age of 6 members

of a family is 25 years. If the
youngest member of the fam-
ily is 15 years old, then what
was the average age (in years)
of the family at the time of the
birth of the youngest member?
F qfiER # 6 GeEl # shEa @ 25
T ) Af% GReR & HaH 98 95 # 9
15 = &, T T B TR & 9 ® T
ofiEr # S @ (ot #) o
(a) 9 (b) 12

(c) 18 (d) 24

260. The average of 5 consecutive odd
mml?% 27. What is the prod-
the

?’.&Jéj

uct’of ‘the first and the last mam-
bqg?u

gmmﬁ fam weel w1 w27 € A
mmmaﬁnmmwwé?
(a) 621 (b) 667
(c) 713 (d) 725

261. What is the average of the cubes

of the first 13 natural numbers
wrg |3 Wpfdw Heme & eH #
sirga 1 erit?
(a) 196
(c) 485

(b) 364
(d) 637

262. The average runs scored by a

batsman in 7 matches is 53
and in other 9 matches the
average is 33. What is the av-
erage runs scored by the bats-
man in 16 matches?

TF dooEE 4 7 #E § 53 T 1 ofa
[ aun 3= 9 M= F 33 ¢ w osfeEe
[ o AW 16 T § AooE F g
TAA qu dEd ™ F wn?
(a) 41 .75 (b) 44.25
(c) 47 (d) 49.175

263. The average marks obtained by
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150 students in an examina-
tion 1s 40. If the average marks
of passed students 1s 60 and
that of the failed students is 20,
then what 1s the number of stu-
dents who passed the exami-
nation?

T e § 150 BE & g0 W
i 40 71 A 3wl B & S 3% 60
& aen ol wEi # sl oiF 20 &, @
uften § Sl gw wE w g @
(a) 25 (b) 50

(c) 75 (d) 100
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Average of 36 results 1s 18.1f 2
is subtracted from each result,
then what will be the new av-
erage of the results?

36 9ftunEl 1 =i 18§ e vEE
uftomy o 2 TR SE E | a5

T A F Em?
(@) 9 (b) 16
(c) 17 d) 17.5

The average marks obtained by 140
students 1 an examinations 1s 90.
If the average marks of passed
students i1s 120 and the number
of students who failed the ex-
amination are 90, then what is
the average marks of students
who failed the examination?
TH A 140 BE % g WE dwE
90 21 Al Sl wEl & dded i
120 & @en el e # dem 00 F A
e § Rl €U B # dma A
¥ &7

(a) 60 (b) 73.33

(c) 85.66 (d) 88

What is the average of first 17
odd number?

ygH 17 foeq densi w1 sied 91 87
(2) 16 (b) 17

(c) 18 (d) 19

The average of 4 consecutive
even numbers 1s 51. What is
the third number?

4 AT G99 HgEnst F s 51 g
Gicsraik:rez e il

(a) 46 (b) 52

(c) 54 d) 56

The average of 6 consecutwe
even numbers 1s 25.If the t P
even number is also co S‘1d—
ered, then what is the n w av-

erage?

6 U TH TWENA! aﬂaﬁ 25 71
o e 99 '\“I"%? WI *‘:ﬁ Terar o,
& i =

() 27 [b] 25

(c) 26 d) 28

There 1s a group of 8 teachers.
One teacher leaves the group and
a new teacher joins the group.
Due to this the average age of
teachers becomes same as the
average 2 years ago. If the mem-
ber who left was aged 42 then
what is the age (in years) of new
teacher?

270.

271.

\ 2
.,,.272

273.

8 SATIH 1 T GHE T UH AATTR
e g I ¢ R TF T AATH
e | o1 W1 € T a5 q FSATH
1 AEd AT 2 9 Ted I SEd
A+ aE B Wi &1 A S A
AT 1 A 42 of O T AATTH
F1 g (ad §) T @2

(a) 22 (b) 28

() 24 (d) 26

Average of 7 consecutive odd mum-
bers is 31. If the previous and next
odd number to these 7 odd num-
bers are also included, then what
will be the new average?

7 warTa fawm dems = #wd 31 21
afs g1 7 fawm gemsi 1 fasedt @R
et fawm wem wi oot faen femr
w1, | T4 efrEa @ e

(a) 33 (b) 31

(c) 35 (d) 29

Average weight of a class bf
boys 1s 24 kg. When a boy\-\h’gg
ing weight 36 kg lejhg?i;ﬁﬁ
class and a new boy’ having
weight 30 kg joins 'the‘_“'gclass,
then the averdge “weight
become 23.5 kg ﬁjﬁ'ﬁrény boys
are there ins/the class?

T HE #ﬁ@ﬁgm siHd 9R 24
fFm 21 s 36 fRm smoAmEn

AT BIET & T TE T 30
. e e gt e F €,

At am 23,5 fEIT & S 2
n frad @=® o7
ré) 12 (b) 8
(c) 6 (d) 16

The average of marks obtained
by A and B is 15 less than that
of average marks obtained by
B and C. If the marks obtained
by C is 65, What is the marks
obtained by A?

AT B gaR WA eI I 36d B
AT C AR WIS Siek1 & 36 9 15
¥ 1 A% C Tom wIa S 65 B,
AU F w0 E?

(a) 35 (b) 50
(c) 65 (d) 80
What 1s the average of

squares of first 10 natural
numbers?

YUYW 10 UIHfasw WEms & o w
Sid = 7

(a) 55.5
(c) 38.5

(b) 45.6
(d) 40.5

274. The average of 7 consecutive

odd number is A. If next 4 and
previous 3 odd numbers to
these 7 odd numbers are also
included, then what is the
new average of these 14 con-
secutive odd numbers?

7 FAFT Tave emsd # simE A # AR
31 7 fao wemsit # st 4 e frecd
3 foom et #r faern =, 9 = 14
A faom gl T ddma

B 0
(a)g,af;

(GpAF 2

(b) A +4
(d) A+1

275 Tr[ﬂé the first 26 overs of a

P

?’.&f

grlcket match, the run rate

O™\ ) was 5.4 runs/over What 1s the

required run rate in the re-
maining 24 overs to reach the
target of 294 runs?

T FEe T9 S Ted 26 S W &
54 TYEET o 99 24 =l A 294 @

% I8 T Teud = e arfed T =
g

(a) 7 (b) 6.4

(c) 7.6 (d)5.8

276. In the first 39 overs of a

cricket match, the run rate
was 4.6 runs/over. Calculate
the required run rate in the
remaining 11 overs to reach
the target of 252 runs?

% faae i & wed 39 3 d W 2
4.6 T/3AET o v 11 e | 252
W & @89 aF Tad & fore srafed @
@ F E HL
(a) 7.2

(c) 7.8

(b) 6.6
(d) 6

277. In the first 32 overs of a
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cricket match, the run rate
was 7.2 runs/over. What 1s the
required run rate in the re-
maining 18 overs to reach the
target of 297 runs?

T e M F R 32 AR AT E 7.
2 TSR 411 A9 18 SR ¥ 297 W & @
T Te % fo arifad @ ' Em
(a) 4.3 (b) 4.9

(c) 3.1 (d) 3.7

|’ 687
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279.

280.

281.

The mean of marks secured
by 30 students in division-A of
Class X 1s 67, 55 students of
division-B 1s 63 and that of 40
students of division-C is 61.
What is the mean of marks of
the students of three divisions
of Class X?

udl Fen # <ideA-A § 30 SE g
e fFA T sE W odmE 67 ®,
Ffas-B F 55 5 & 3% %1 diwa
63 & dr fefasm-C % 40 30 & =
F MG 61 T oSEAl wem & A

fedtior & ol ® oiHT = Siwma =271 £7
(a) 63.32  (b) 62.62
(c) 61.92 () 64.72

The average weight of Shiv-
shankar, Gopesh and Reena 1s 97
kg. If the average weight of
Shivshankar and Gopesh is 93 kg
and that of Gopesh and Reena is 82
kg, then the weight of Gopesh is
97 fareimm €1 A feraviat =i oy
1 oiEa w93 fEel § @R Tiew
Al T w1 sl s 82 fEe &, At
M9 1w R 227

(a) 72 (b) 56

(c) 59 (d) 63

The mean of marks secured
by 55 students in division-A of

class X 1s 55, 45 students of
division-B 1s 51 and that of 40

students of division-C is 49. =«
What 1s the mean of marks of4

\';C‘;“\ .
S

the students of three divisi
of Class X?

et Far % fefaem- AﬂS&éﬁﬁm
wd R T s W ) 55 %,
feets-B # 45 o qyﬁaﬂaﬁm
51 & &in %-cnvgf F40 361 *
sil w1 s 49 1 <adl wan b A

Fedtior & 2l & afwi = 2ima w0 27
(a) 51.3 (b) 50.6
(c) 52 d) 53.4

In a class of 56 students there
are 33 girls. The average
weight of these girls is 47 kg
and average weight of the full
class 1s 52.75 kgs. What 1s the
average weight of the boy of the
class?

688 |
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282.

283.

C

 sirem 73 @ra ® § o sifm 7w

,,,,

284.

56 B F UH Hel § 33 wSfRA € =
wEfFA 1 i Je 47 fRL € @R
oof wen 1 e 9o 52.75 fRAL €
FE F ASH F 3G T F 87
(a) 58.5 (b) 61

(c) 56 (d) 59

The average revenues of 7
consecutive years of a
company is Rs 79 lakhs. If the
average of first 4 years is Rs
74 lakhs and that of last 4
yvears is Rs 86 lakhs, what 1s
the revenue for the 4th year?

TH FE F AR 7 G F s
T 79 @@ ¥ 813 Tt 4 9
F1 G 74 Tr@ T ¢ R R 4 Tl
F1 30 86 TG E B, o 4-3 a4 H
T 27

(a) Rs 87 lakhs
(b) Rs 89 lakhs ?
(c) Rs 85 lakhs A2
() Rs 83 lakhs A

The average revenu/ﬁ 13

consecutive yea uf ~a com-

pany is Rs 78 lakl ”ff Revenue
for first 7 yﬁ'g? is Rs 73 lakhs
and that 6f\1.§st 7 years is Rs
85 lakhs, }fl{lat is the revenue
for K o o year?

Q’{?ﬁ F1 TR 13 | 9 irEd
(ot 78 v = &1 af wew 7 W A

e 85 @re ® €, dt 7-F A
TS 1 Em?

(a) Rs. 94 lakhs

(b) Rs. 90 lakhs

(c) Rs. 88 lakhs

(d) Rs. 92 lakhs

Of the 5 numbers whose aver-
age is 78, the first is 2/11
times the sum of other 4. The
first number is

5 wee =1 sigd 78 ¥, 39 4§ Teel
Hem ot 4 gemst & 9m w2711
T 1 9 Ueel! WeAl 1 §7

(a) 90 (b) 40

(c) 60 (d) 120

285.

286.

The average of 29 consecutive
1s 60. The
highest of these intergers is
29 AR HH YUl 1 3 60 13
e

(a) 88 (b) 118

() 176 (d) 120

In a class of 66 students there
are 33 girls. The average
weight of these girls 1s 61 kg
and average weight of the full
class is 66 kgs. What is the av-
erage weight of the boys of the
class?

66 mmwﬂszﬂm%l

sqr T F1 siEd a9 61 fRelt B
SO e 1 sl a9 66 el B

even integers

O gen % TeF F SEd a9 82

288.
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o\ (a] 72 (b) 73
£/ (069 (d) 71
287. The average revenues of 7 con-

secutive years of a company is
Rs 75 lakhs. If the average of
first 4 years is Rs 70 lakhs of
last 4 years is Rs 82 lakhs, what
will be the revenue for the 4th
year.

TF FOA F AERE 7 Gl A
T 75 @ w9 #1 A vt 4 9
=1 sirga 70 wr@ = ¥ e offm 4
ol =1 siEd 82 @@ ® #, d |99 ad
F1 U G HifeA|

(a) Rs 85 lakhs

(b) Rs 83 lakhs

(¢ Rs 81 lakhs

(d) Rs 79 lakhs

A factory buys 10 machines. 2
Machine-A 3 machine-B and
rest Machine-C. Prices of the
machines are Rs 95000,Rs
60000 and 50000 respectively.
What is the average cost of
these machines?

UH FEFE o 10 T 1 S S
21 T 2 meii-A, 3 WeiH-B ik amht
F1 7YA-C 81 39 Wl % §oq FEen:
95000 %, 60000 % #R 50000 &
21 7 Wi W i gew w A
(a) 62000 (b) 68333

(c) 74666  (d) 60500
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A factory buys 7 machine. 2 294. The average marks of 45

Machine-A, 4 Machine-B and
rest Machine-C. Prices of the
machines are Rs 56000, Rs
45000 and Rs 30000 respec-
tively. Calculate the average
cost of these machines.

UF FEE § 7 weiE w @y S
B T 2 W A,4 wei B 3R =
Ft o C ¥z Wi F 3™ wwwe
56000 &9, 45000 & 3 30000
w1 % T Wi #1 afed e &t
AT F

(a) 46000 (b) 43666.66

(c) 41333.33 (d) 44500

The average of 25 consecutive

odd integers is 55. The high-
est of these integers 1s

25 HANE 99 qoEl 1 3dwd 55 €
(a) 79 (b) 105

(c) 105 (d) 109

The sum of the ages of brother
and sister at presentis 21. Five
years ago, the product of their

ages was 28. What is the age
of the brother and the sister?

TR H 4 SR WE I SW W AW
21 %1 5 | Ugel ITH! 39 FH OAEE
28 of 3 9 & 98T F 39 PN E?
(@) 9,12  (b) 6,15

(¢) 7,14 () 8,13

In a class of 55 students there
are 34 girls.

The average .
weight of these girls 18 51 kgf

students 1s shown as 65. It
includes a wrong entry of 84
marks instead of 48 marks.
The correct average is:

45 BET F 9T 2F 65 T TWH 48
W T 9T 84 IR F TF AT
yfafie  wifire 21 W& sida 8-
(a) 65.8
(b) 67.4
(c) 62.6
(d) 64.2

mark
mark
mark

mark

295. A factory buys 10 machines. 1

machine-A,4 Machine-B and
rest machine-C. Prices of the
machines are Rs. 90000, Rs.
40000 and Rs. 40000 respec-
tively. Calculate the average
cost of these machines:

TF FR@r § 10 7eiA F @l s
2w 1 wiH-A 4 wiE-B iR

F WAC ¥ 7wl & T,
90000 ®40000 & =i 40 ﬁgmq@%
T WY W eiEE e

(a) Rs.56666.6 ) .
(b) Rs.68333.3 f/ )

(c) Rs.45000
(d) Rs. 435;){

206. The meﬁﬂ»df marks secured

,,,,

and average weight of the fudl. \./

class 1s 55.2 kgs. What is@ﬁe“f’}

average weight of the

b‘f{ s ‘of
the class? ;{

55 o F UH waE ﬁ,gﬁ;é%m 2
= wfEal & o’ 51 fem &
AR qul e 1 AfER-AeH 55.2 .
21 e % TeE 1 HAHd a5 1 27
(a) 62 kg (b) 59.4 kg

(c) 56.8 kg (d) 60 kg

The average of 19 consecutive

even integers is 50. The
highest of these integers is:-

19 omarR §H g 1 s 50 @
@ i = wEt= wen -

(a) 88 (b) 68

(c) 126 (d) 100

by ent in division A of
class 1s~‘56 40 students of divi-
stf)n*Bx 1s 52 and that of 40 stu-

fz’gé s of division C 1s 50. Find
* the mean of marks of the stu-

dents of three divisions of

Class.

T e & fediom A H 45 o6l @
o TR T s 5 s 56 %, fediee
B 40 9 & o 1 sima 52 %
v fedem C 3 40 =& 3 i =+
Sred 50 81 =gt Fan % il feder 3
BE & FH F AT 71 F

(a) 52.1 (b) 51.4

(c) 52.8 (d) 54.2

297. The sum of the ages of hus-

band and wife at present is 56.
Ten years ago the product of
their ages was 320. What is
the age of the husband and the
wife?

e F U S T F W FA 56
21 10 Wl el IAH IW F OEAGE
320 o1l 39 9fq &R Ul Fi IW 8?2

298.

299,
-

{}.._\

k|

e)

300.
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)

(a) 28, 28  (b) 32, 24
(c) 30,26 (d) 29, 27
Among three numbers, the
first is twice the second and
thrice the third. If the average
of three numbers is 638, then
what 1s the
tween the first and the third
number?

a1 demsdl & 9= #, el Hewn gud
T & A Sl drel wem § dm T
#1 4z 37 9 Hemei &1 s 638 &,
TeeT SR AT et a R S 7

() 95{’ (b) 503
# 4
(c) 69

(d) 541
’Fé‘éeiaverage revenues of 13

difference be-

éc’fnsecutwe years of a
company Rs 70 lakhs. If the
average of first 7 years is Rs
65 lakhs and that of last 7
years is Rs 77 lakhs, find the
revenue for the 7th year.

F FE F @R 13 W& E S
o 70 @ € B AR Tee 7 Hel H
S 65 @R ® § SR sl 7 o
S 77 TR E R, W 7S 9 W e
G s

86 lekhs

84 lakhs

82 lakhs

(a) Rs.
(b) Rs.
(¢) Rs.
(d) Rs. 87 lakhs

In a class of 50 students there
27 girls.
weight of these girls 1s 45 kg

are The average

and average weight of the full
class 1s 49.6 kgs. What 1s the
average weight of the boys of
the class?

50 BE 1 U wel § 27 wefEal €
= wfEA F oiwa a9 45 fee €
3R qof e 1 A a9 49.6 FRL
2 F TSH B S T 1 87
(a) 55 (b) 54.2

(c) 53.4  (d) 53

|" 689
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301. In a class of 56 students there (a) 216 (b) 297 UF FIA F FOEAR 11 Gl AT
are 28 girls. The average (c) 661 (d) 431 TIEIE 77 e 5\ & AR e 6
vl b dhwss gids sae ke 305. The mean of marks secured Sirem 72 W = B 8T sifam 6 9§t w5

g _g _ by 35 students in division A of g 84w = & odt w2 ad =
and average weight of the full class X is 65,45 students of T e
class is 51 kg. What is the division B is 61 and that of
bt of the b ¢ 70 students of division C is (a) Rs 91 lakhs
average weight of the boys o .
g g y 59. What is the mean of (b) Rs 87 lakhs
the class? marks of the students of
s6 o 31 wF Fa ° 28 TR three division of class X () Rs 85 lakhs
w1 et F1 ot a9 46 e & el Fan % fedlorT AH 35 g g ) F29 fmicte .
GﬁTt[me?l S o fed T s W sieE 65§, . A fac:tory buys 8. machines.3
\ Resiort B 45 il ) ofw st Machine-A 4 Machine-B and rest
o F TEE F1 SEd a5 87 B - ;
kil : 5 - Machine-C. Prices of the
(a) 55 (b) 56 614 ol fadiow C2b 70 3l & 5ia) inés are Rs 45000, Rs
(c) 53 d) 54 F SiE 59 # wl w F T‘ ad Rs 35000 respectively.
feafis & Bl & 1 1 ST 1 27 até the average cost (in Rs)

302. Of the 3 number whose aver- =
age is 77, the first is 3/4 times (a) 60.3 (b) 59.6 OEWG machines:
the sum of other 2. The first (c) 61 (d) 62.4 o @ FwEd § 8 qeiAl # e
number is 306. The average marks of 56 stu- o (J S #1299 3 wyA-A 4 7R B
3 Hema #1377 £ 5 9 Tselt dents is shown as 60. It in- I S F mE-C 31 o omeher
T 5= 2 HEnaH ® A F} 3/4 T Clu‘ilfs - Wro;lg ferzltgry Dfx%s% &/ % W FA%: 45000 ¥ 25000 %

. mareKs LllEtCa. (o] mar, . : ﬁ ﬁ» ‘f
8 7 T 1 &2 The correct average is .. - ‘. B o 35020 - %:;jq ®
. (LG H &
o B (b) 66 56 Tl % s 5% 60 $EEH 29 W0
(c) 99 (d) 198 S % awd 92 E FL W e (4)387S0 (k) 35000

303. The mean of marks secured by yfafers <t wnfe &, ﬁm, i (c) 36250 (d) 32250

;O_Stg;ie;? mtliliwstl:on fA:i’f class (a) 58.875 marks V] . A factory buys 8 machines. 3
is 61, students of division ; ;
B is 57 and that of 50 students (b) 61. 125 ﬁg{f:ks Meching: 8, 2 Mashine B and
s O 55 Whkataall be (c) 63. 373"marks rest Machine C. Prices of the
the mean of marks of the stu- (d) 56. ﬁgﬁ}marks machines are Rs 100000, Rs
dents of three divisions of 307. The»é%ge revenues of 7 con- 80000 and Rs 45000 respectively.
Class X? g?&};ﬁe years of a company is Calculate the average cost of
ol e % fedism A ° 50 =6 g0 sv/71 lakhs. If the averae of .
oI 5 T st ol 61 ¢, fedtem C st 4 yvears is Rs. 66 lakhs and these machines?
B?ZSM?GWWGWS?ES?ITK °°° that of last 4 years 18 Rs. 78 UF FREM H 8 WAl HI @HE S
lakhs. What is the revenue for 212 3 Wi A, 2 Wi B siR Ay

ﬁﬁmc%soaﬁfmaﬁmmw' " e

o ) the fourth year. \ wiH C ¥ = Wi # W FEw:
55 21 TEE wen & Al feden g PO T !
3 sidl = ok T am O i 5“7‘1ml_\' '_%E'I'Eaﬁm 4m‘3"m‘" 100000 ¥, 80000 & 3R 45000 T ¥1 T
() 57.1 () 564.0) s 66 @@ & # i s 4 7 # WAl 1 ST AR H A
(c) 59.2 d) 57857 e 78 @mE ® B, A A ad & (a) 74375  (b) 75000

304. Among threeﬁl&mbers the Gt 3t ! () 75625  (d) 72875
flﬁ:lt 18 JWITS ;H;fsicond and (B} R&B1. laha . Of the 3 numbers whose aver-
thrice the third. T .t ¢ average (b) Rs 77 lakhs age 1s 72. the first 1s 2/7 times
of three numbers 1s 198, then (c) Re 70 inlths _
what is the difference be- the sum of other 2. The first
tween the first and the third (d) Rs 75 lakhs number is:

? . e
I L e e
' 5 pany is Rs. 77 lakhs. If the av- HEAT S 2 HEATHA & AN HT 2/7 A
T S SR el e g 9 T ' o
. ) L erage of first 6 years is Rs. 72 21 = Tl wea w1 #2
R 3 d Hemedi = oima 198 €, @ lakhs and that of last 6 years () 48 (b) 72
TEell R A weme & & fae is Rs. 84 lakhs. What is the
I 22 revenue for the Sixth year. (c) 32 (d) 96
690 ||
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313.

314.

315.
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Of the 3 numbers whose aver-
age is 70, the first is 1/9 times
the sum of other 2. The first
number is:

3 weAs F1 a0 ®, 39 9 veel
HeA 579 2 HeArsd & I w19 T
2 9% weel wen W 87

() 32 (b) 21

(c) 14 (d) 42

Among three numbers, the
first is twice the second and
thrice the third, If the average
of three numbers 1s 517, then
what is the difference be-
tween the first and the third
number?

1 e F A A el F
2 @R e wEn @ 9 T
4% 39 & gemst w1 dea 517 Ea
geelt AR Ared gensi % s fea
T 82

(a) 564 (b) 759

(c) 485 (d) 799

In the first 36 overs of a
circket match, the run rate
was 4.3 runs/over, Calculate
the required run rate in the

remaining 14 overs to reach
the target of 271 runs?

UF e 19 % Tl 36 AN T H &

43 TSR 91 9 14 S 6 271 |
% W8 T Tga & faq o @ T
gm?

(a) 8.9 (b)9.5

(c) 8.3 (d)7.7

The average revenues offfli 3
consecutive years “a
company is Rs 66 la fi the
average of first 6 ég}iS Rs

61 lakhs and th }ff last 6
years 1s Rs 73 akl;a, What 1is
the revenue o t’ﬁe Sixth yvear?
TF FHE HI COER 11 G F oA
T 66 T F ¥ AfE TEel 6 Wil H
4d 61 o ® § S fam 6 i
39T 73 O ® §, @ B 9 1 Toea
T BFM?

(a) Rs 80 lahks

(b) Rs 75 lahks

(c) Rs 78 lakhs

(d) Rs. 74 lakhs

316.

317.

318.

,,,,

319.

The mean marks secured by
60 students in division A of
class X is 66, 45 students of
division B 1s 62 and that of 75
students of division C is 60.
Find the mean marks of the
students of three division of
ClassX.

e Fan + fodfem A °§ 60 wE 2O
o foFd T SRl w3 66 €, fedieT
B & 45 361 & 3iF &1 3iwa 62 & ain
fedio C & 75 9@l & 2iF @1 iwq
60 1 =H FE & il fedtsH & ol
+ IR T T F

(a) 61.8 (b) 62.5

(c) 61.1 (d) 63.9

Among three numbers, the
first 1s twice the second and
thrice the third. If the average
of three numbers 1s 506, then
what 1s the difference be-
tween the first and the tl}ﬁ{d
number? o5 v

< sl % i, veeh Aet) gad
e ¥ S aﬁiﬁlmwf'e d
T #1 AR A FEnS w S
506 %, T TEel i G wEmet @
a‘)‘:ﬁmmq_m{%&

(a) 759 ,,f;wg(b) 585

) 7 () 552

Int éﬁg‘%st 43 overs of a cricket

nfagp‘h the run-rate was 5
{;tlzns Jover. Calculate the
required run rate in the
remaining 7 overs to reach the
target of 285 runs?

T fFde 19 F Td 43 AR A | =
5 TSR A1 ¥ 7 AEU 6 285 W H

eI T Tge & foTu orife @ & #
T ST

(a) 10.6 b) 11.2

(c) 10 (d) 9.4

The average revenues of 9 con-
secutive years of a company is
Rs 65 lakhs. If the average of
first 5 years 1s Rs 60 lakhs and
that of last 5 years is Rs 72 lakhs,
find the revenue for the S5th year.
UF FE F GEE 0 TE i
TS 65 @M & ¢l Af 98l 5 A H
S 60 o & ¢ 31 a5 a6t
i 72 @ ® E, @ uEd A
TS J[ i)

&

320.

391

322.
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X 65.5
b{‘a]

(a) Rs 77 lakhs (b) Rs 75 lakhs
(c) Rs 73 lakhs [d) Rs 71 lakhs
The mean of marks secured by
45 students in division A of
class x 1s 69, 65 students of
division B is 65 and that of 50
students of division C is 63. Find
the mean of marks of the
students of three division of class
X

<hdf wa % fedion A ¥ 45 26 @@
o 554 T s 0 st 69 2, fedtem
B% 653 “a‘a’ﬁmoﬁmﬁs 2
S FAIC # 50 DA B i F
5 8, <ot o @ S Pt
'@@“*&: w1 F1 3ima @ =

(b) 64.8

(c) 64.1 (d) 66.9

. The average revenues of 7 con-

secutive years is Rs 83 lakhs.
The average of first 4 years is
Rs. 78 lakhs and that of last 4
years is Rs 90 lakhs,find the
revenue for the 4th year.

uF FE F GER 7 WS F A
TS 83 @@ F B A ueel 4 6ol
ST 78 T ¥ & SR o 4 e w
i 90 T ¥ ¥, @ A o 1 TR
a i)

(a) Rs 91 lakhs

(b) Rs 93 lakhs

(c) Rs 89 lakhs

(d) Rs 87 lakhs

In a class of 60 students there
are 33 girls. The average
weight of these girls 1s 62 kg
and average weight of the full
class 1s 66.5 kg. What is the av-
erage weight of the boys of the
class?

60 BHEl = Uk wa d 33 wefEal
Irgd 7= 62 frm. € it gf e =
3d 751 66.5 FR &1 e & a2
#1 aifga av # E?

(a) 72 kg (b) 71 kg

(c) 70 kg (d) 73 kg

|" 691
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323.

324.

325.

326.

In a class of 56 students there
21 girls.
weight of these girls is 56 kg

are The average
and average weight of the full
class 1s 62.875 kgs. What 1s
the average weight of the boys
of the class?

56 BE F TH e W 21 wEfEA 8 4
el @ el a9 56 fRan. § sl
i e 1 A w9 62.875 R R
w1 F gh F1 fEa asH = 8D
(a) 69.75 kg (b) 72.5 kg

(c) 67 kg (d) 65 kg

A factory buys 7 machines. 2
machine A,2 Machine B and
rest Machine C. Prices of the
machines are Rs 95000,Rs
75000 and Rs 43000 respec-
tively.
cost of these machines?

UF FREF H 7 HUA F @[ S
# 7 2 Wi A,2 WA B 2R At
% "eid C @1 Wil % qm e
95000 & 75000 T 43000 & ¥ T
T¥itai 1 A dFE w TOE
(a) 71000  (b) 67000

(c) 75000 (d) 65500

The average revenues of 9 con-
secutive years of a company is
Rs 76 lakhs. If the average of
first 5 years 1s Rs 71 lakhs and
that of last 5 years 1s Rs 83
lakhs, find the revenue for the
Sth year,

TH FHHA FT wER 9 T FT
TS 76 @ & §1 A T8 5
S 71 T ® § i wfm

Calculate the average

(a) Rs. 88 la f‘;
(b) Rs 84 lakhs"
(c) Rs. 86 lakhs
(d) Re 82 lakhs

The mean of marks secured by
65 students in division A of
class Xis 54,30 students of di-
vision B 1s 50 and that of 55 stu-
dents of division C is 48 Find
the mean of marks of the stu-
dents of three divisions of

Class. X.

692 |
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327.

328.

329.

,,,,

330.

Tl wa & fefas AH 65 o/l
s o3 T S = aiEa 54 €, fefae
B 30 o & 3% *1 irgd 50 §
dr fefas C & 55 oAl & @i
IR 48 1 TEEt He ® o fefaeE &
BE H S H IFET T H

(a) 50.3 (b) 49.6

(c) 51 (d) 52.4

Of the 5 numbers whose aver-
age 1s 72, the first1s 1/8 times
the sum of other 4. The first
number is:

5w 1 sid 72 §, 39 9 vt
HEq = 4 Hemsi & 4w 1/8 T

%1 9% TEEH TEm B
(a) 60 (b) 26
(c) 40 (d) 80

The average weight of Shubha,
Govinda and Reshma is 65 kg. 1.f
the average weight of Shubha
and Govinda be 63 kg and that pf
Govinda and Reshma be 70 k

then the weight of Govmdams o
T, Tifsr oiR T stEa qyf 6545,
W Ak e iR e @ LR
63 fran B & AR g{ S

LA

3hEd =eF 70 fEm Al e =
EERR Vo

@41 P71

)88 ¢~ w (d) 46

In e jof 60 students there
are rls. The average weight

0( tl il gl.rl& 1s 58 kg and aver-
¢ weight of the full class is
kgs. What is the average
vvelght of the boys of the class?
60 BE F1 UF FeN H 30 w=fFAT B
wTfFal F1 aied a9 58 . # el
ot Haf F1 ArEd a9 63 . &1
Fa1 F ASH F D T T 27
(a) 67 (b) 67
(c) 68 (d) 65
The average revenues of 9 con-
secutive years of a company is
Rs 68 lakhs. If the average of
first 5 years 1s Rs 63 lakhs and
that of last 5 years is Rs 75
lakhs, find the revenue for the
5% year.
TF FE F AR 9 WA A
T 68 @ & &1 AfE Teel 5 Wl H
diA 63 or@ ® ¥ 3 afen 5 e
I 75 @@ ® €, d 53 9 F e
I Fifor -

331.

332.

o™

(a) Rs. 80 lakhs (b) Rs. 76 lakhs
(c) Rs. 78 lakhs (d) Rs. 74 lakhs

The average revenues of 9 con-
secutive years of a company is
Rs 80 lakhs. It the average of
first 5 years is Rs. 75 lakhs and
that of last 5 years is Rs. 87
lakhs, find the revenue for the
S vear.

UF FH F R 9 Wl H e
TR 80 g & #1 9 Teet 5 9 H
sied 75 E ® § iR s 5o @
4 87 @@ ® ¥, i 5 -ad # Iwe
A it

(a) Rs 90:lakhs (b) Rs 92 lakhs
(c) Rs 8 lakhs (d) Rs 86 lakhs
In the fitst 44 overs of a circket
mﬁ-tgl‘i, the run rate was 5.1

rlgps/over Calculate the re-
}mred run rate in the remain-

¢, ing 6 overs to reach the target of

%f*lg

333.

334.
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294 mans?

F fFEe M F w44 AT R
5.1 TSR o1 ¥ 6 2 H 294 W &
T T A ® fou s W ' @t
AT F

(a) 12.19 (b) 12.79

(c) 11.6 (d) 10.99

The average revenues of 13
consecutive years of a com-
pany is Rs.82 lakhs If the av-
erage of first 7 years 1s Rs 77
lakhs and that of last 7 years
is Rs.89 lakhs, find the rev-
enue for the 7th year.

TF FO F SER 13 WS T S
T 82 @@ F ¢ AR Weel 7 Tl
siEd 77 @ ® § #R sifan 7 o w5
89 W@ &, dl 73 =nf =1 Teie T 7
(a) Rs 98 lakhs (b) Rs. 94 lakhs
(c) Rs. 96 lakhs (d) Rs. 92 lakhs

The mean of marks secured by
55 students in division A of
class X 1s 58, 45 students of
division B 1s 54 and that of 75
students of division Cis 52. Find
the mean of marks of the students
of three division of Class X.

<udl e & fediod AW 55 BE gH
w3 T aiE @ e s ) fedee
B & 45 DA % 3 1 olreq 54 € #in
fediom C % 75 96 & il #1 3iEa
52 %1 qudl we & A4 fedion & oEl
% i# F1 olEd T F

(a) 53.7 (b) 54.4
(c) 53 (d) 55.8
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Of the 3 number whose aver-
age is 64, the first number is
1/3 times the sum of other 2.
The first number 1is

3 GEAE #1 HEd 64 &, 394 | Tecd
Hem &1 2 HWemad & A #; 1/3 T
21 weelt Hem w82

(a) 72 (b) 32

(c) 96 (d) 48

The mean of marks secured
by 60 students in division A of
class X 1s 64, 40 students of
division B is 60 and that of 60
students of division C is 58.
Find the mean of marks of the
students of the students of
three divisions of Class X.

ol Fa ® fedtsm A F 60 BE1 B0
o foFd T s F T 64 2, fediem
B 40 o ® s =1 siwa 60 &
3 fedism C % 60 BEi & 37F &
3tga 58 & auel e & A fedfted &
Al F SR F SiEd T F

(a) 60.05 (b) 59.35

(c) 62.15 (d) 60.75

In a class of 50 students there
are 22 girls who scored an av-
erage of 35 marks in the test.
What is the average marks of
the boys if the class average
is 42 marks?

50 B F wE wan § 22 wefEAar &
faeli often # @ 35 ai% afsfa
faa afs en 1 oa 42 3% 2 A
weHl # dEa o fma 7

(a) 50 (b) 52.5

(c) 47.5 (d) 55

The average of 41 consecnge
. the

odd numbers 1s 49. Wha

largest number.

(c) 93
A batsman scores 87 runs in
the 21 match of his career.
His average runs per match
increases by 2. What was his
average before the 21< match.
fopelt ook 3 ST R & 21 93 587
T I 35 o T S 29 e
™ 21 & T F e I T P A7
(a) 45 (b) 46

(c) 44 (d) 43

340.

341.

342

343.

The average marks of 18 stu-
dents in an examination was
60. It was later found that the
marks of one student had been
wrongly entered as 63 instead
of 36. The correct average is:
fordt often § 18 B & AFK &
s 60 e =R H 7w wEn T fE
frd @@ % 3% 36 % wwg 63 o

MY ) G SAEa g
(a) 59 (b) 59.5
(c) 58 (d) 58.5
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Rita buys 5 sarees at an aver- 344. The average of 44 consecutive
age cost of Rs 2250. If she buys odd numbers is 144. What is
three more at an average cost the largest number?
of Rs 2_{'50, what will be the av- 44 wava faww wemst #1 sirea
erage (in Rs) of all the sarees 144 %) w98 92 9= =9 @
she buys? :
\ P ; (a) 189 (b) 191
Fa A 2250 TR EH a\mjsm’@m () 187 (d) 193
T A H A ﬁ(m 2750 345. A batsman makes 100 runs in
#irea gea @ @il d g afeat the 25*® match of his career.
7 Ed T (5991 ®) 1 gAm? His average runs per match
increases by 1.4. Find his
(a) 2437.5  (b) 2500 average before the 25% match.
(c) 2450 (d) 2332.5 T Food A9 FER F 25-9 1= §
In a one day match of 50 100 1 3HF W 1 ¥ i T
overs in an inings the team Q‘ 25- 4 = & WA TEH
A had a run rate of 5.3 runs 31]“%
per over. Team B is playing «Lai"@’é; (b) 55
and 5 overs are left and the G\*@; 75 (d) 45
1‘equi1‘ed. run rate to tie the f}"34}6:;';“'6f tha Batimber Whsss aver.
match is 7.2 per over to ’v*lg age is 22, the first is 3/8 = the
match the score of team o .
3 sum of other 2. What is the first
What is team B's score{-’ i
number?
feoda %9 § 99 A9 3 %ﬁﬂr L ;
i ‘ 3 3 "emsd § 4, fomen sl 22 €,
aﬁ@trrﬁﬁﬂﬁgﬁaajﬁ}(aﬁ : S L
TEell §EA &1 A &S B A H
TWAH W A | AHBET w7 AR g
T 5 Mmaﬁ?ﬁfﬁf‘a%nﬁn,« (8 T B '
F THIT FH FHH & fag (2) 16 (b) 20
AEvIE 3.3 12 T ufa s (c) 22 (d) 18
21 7w B"&ﬂ"‘m? 1 7 ? 347. The average of three consecu-
(a) %‘g‘;\ (b) 238 tive odd numbers 1s 52 more
c{]"ZSZi d) 229 than 1/3" of the larg.est of
these numbers. What is the
%{Ierage of all even numbers -
tween 104 and 148 is smallest of these numbers:
________ TR i forew wem i siea e
D R R R S bk LA o
y , [ 1 I ?
TEmed F1 sAEa fRa g | T | WA B w1 ¢
(a) 79 (b) 75
(a) 128 (b) 130
(c) 81 (d) 77
(c) 124 (d) 126 _
348. A batsman scores 98 runs in

the 17th match of his career.
His average runs per match
increased by 2.5. What 1s his
the 17t

average before

match?

TF Foetars 1 A9 HEH 17-9
#= ¥ o8 W WA I uE HE
v i 2.5 # gfg gl 17-9 T

¥ UEe SHET Ed R B2
(a) 58 (b) 60.5
(c) 63 (d) 55.5
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349.

350.

351.

What is the average of all
numbers between 100 and 200
which are divisible by 13?

100 3R 200 & &9 ® 9 Ens

=1 | F1E, S 13 © favea w7
(a) 147.5  (b) 145.5

(c) 143.5  (d) 149.5

The average weight of L, M and
N is 93 kg. If the average
weight of L and M be 89 kg and
that of M and N be 96.5 kg,
then the weight (in kg) of M
is.

L, M e N %1 3 o= 93 foran. 21
AR L2 M &1 e as[ 89 fFm.
T Maen N %1 sifrga a1 96.5 fr.
& M o fRm. Em

(a) 92 (b) 86

(c) 101 (d 95

Mahesh buys 3 shirts at an
average price of Rs. 1250. If he
buys 2 more shirts at an
average price of Rs. 1450 what
will be the average price (in Rs.)
of all the 5 shirts he buys ?
TRy 1250 Tl & 30 ge | @4
W @i 21 afk 7w 1450 v &
seq 7e9 @ @ st v woe A
TR T wf T vl w5 osied qoa

(o ®) A '
(a) 1370 (b) 1330
(c) 1310 (d 1390

352.

353.

354.

In a one day match of 50 overs
in an innings the team A had
arun rate of 6.1 runs per over.
Team B is playing and 10
overs are left and the required
run rate to tie the match 6.5
per over. What is the team B's
score now?

50 3R & U feada 7= W 9w AS
THEUO AU AR 6.l I
T 9 B B @ # R 10 SR
T F qw 9 oE o T ® fem
AT W E 6.5 9 A 2199 B

F =R A F= 82
(a) 235 (b) 230
(c) 240 d) 225

Average of all even numbers
between 222 and 250
is ;
222 3R 250 % d@9 H WA 9H
gemai #1 dea B L ;
(a) 234 b) 232 9.8J
(c) 236 @ 230 ‘o5’
The average weight gf XY and
Z 1s 74 kg. If gt'h;@f average
weight of X apd.Y be 68 kg and
that of Y \Zfr)e 78 kg, then
the weight firfkg) of Yis
X, Y’?;&Em e a9 74 TR 2
3 Y 1 oi|a 99 68 R
Y i Z 9 stvea w78 fEm
f‘st Y® asH (e &) #

cor
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356.

(a) 72
(c) 68

(b) 70
(d) 66

. Of the 3 numbers whose av-

erage is 26, the first 1s 2/11
times the sum of other two.
The first number is:

3 HEma! F o 26 T, S 9 Teet
e gl 5 HEema F A w1 2/11
J 9 1 veeh gea §

(a) 16 (b) 13

(c) 11 (d) 12

The average weight of a class
of 50 students 1s 48.6kg. If the
eight of the 20 boys
l(é’féthen find the aver-
ag@ Wélght in kg) of the girls

o \{n t{le class.

bs’l}mﬁammeﬁmm%

%{Jg

357.
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6 fom.m. 21 a1 20 wgE &1 AiEd
99 54. TR 2, 9 wan A frem
wefea %1 oftdd asq (fFal )
EIlcad

(a) 40 (b) 46

(c) 435 (d) 42

The average of all odd num-

bers from 113 to 159 1s
113 | 159 9% =i g4t faum dema

0 1= SN
(a) 135 (b) 134
(c) 133 (d) 136
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% ANSWER KEY D?

1. () 37. (9 73. (g 109. (a) 145.(b) 181.(d) 217.(d) 253.(c) 290. (a) 324. (b)
2. () 38. (g 74. [b) 110.(a) 146.(d) 182.(a) 218.(b) 254.(c) 291. (a) 325. (¢)
3. (o) 39. [ 75. (d) 111.(a) 147.|d) 183.(c) 219.(b) 255.(¢) 292. (a) 326. (c)
4. [ 40. (g 76. (c) 112.(d) 148.(b) 184.b) 220.(b) 256.(b) 293. (b) 327. (o)
5. (d) 41. (@) 77. (@) 113.(c) 149.(d) 185.(a) 221.(a) 257.(d) 294. (d) 328. (b)
6. (b 42, (9 78. (a) 114.(c) 150.(b) 186.(a) 222 .(c) 259 .(c) 295. (¢ 320. ()
7. (d) 43. (o) 79. () 115.(d) 151.(b) 187.(b) 223.(c) 260.(a) 296. (o 330. (c)
8. (o) 44. (d) 80. [c) 116.(a) 152.(b) 188.(a) 224.(c) 261.(a) 297. (¢) 331. (a)
9. (@ 45. (a) 81. (a 117.() 153.(b) 189.(d) 225.(¢) 262.(c) 298. (¢ 332. (c)
10. (o) 46. (a) 82. (d) 118.(a) 154.(b) 190.(c) 226.(a) 263.(a) 299. (b) 333. (¢)
11. (a) 47. () 83. (a) 119.(a) 155.(q) 191.(d) 227.(e) 264.(c) 300. (a) 334. (b)
12. (d) 48. (o) 84. (a) 120.(c) 156.(b) 192.(d) 228.(a) 265.(h) 301. (b) 335. (d)
13. (a) 49. (a) 85. () 121.(a) 157.(d) 193. (a) 229.(c) 266.(a) £302. (g 336. (d)
14. (d) 50. () 86. (c) 122.(c) 158.(a) 194.(d) 230.(c) 267.(c) éoa. (d) 337. (c)
15. (b) 51. (o 87. (c) 123.(b) 159.(c) 195.(a) 231.(¢) 268. @\<}r§04- (@) 338. (a)
16. (c) 52. (o) 88. (c) 124.(a) 160.(c) 196.(a) 232.(b) 269. tg " 305. (o) 339. (a)
17. (d) 53. (d) 89. (b) 125.b) 161.(c) 197.(b) 233.(c) 270, (b 306. (a) 340. (a)
18. (o) 54. () 90. (o) 126.(0) 162.(c) 198.(a) 234.(b) {ﬁ% 307. () 341. (d)
19. (d) 55. (a) 01. (o) 127.(b) 163.(a) 199. (a) 235.(b) (a) 308. (d) 342. (d)
20. (¢) 56. (a) 92. () 128.(b) 164.(h) 200. (b) 236.(b) 4 3 () 309. (a) 343. (d)
21. (o) 57. (a) 93. ) 129.(d) 165.(a) 201.(b) 237 () j274. (d) 310. (a) 344. (c)
22. (a) 58. (d) 94. (a) 130.pb) 166.(d) 202.(d) f‘@ 275. (b) 311. (a) 345. (a)
23. (a) 59. (d) 95. (a) 131.(c) 167.(d) 203.(c) 4{a} 276. (b) 312. (b) 346. (d)
24, (d) 60. (b 96. (a) 132.(c) 168.(c) 204, (c) } 277. (d) 313. (a) 347. (d)
25. (c) 61. (a) 97. (a) 133.(c) 169.(a) 205.(a) 4 2} {a} 278. (a) 314. (¢ 348. (d)
26. (b) 62. (o) 98. (d) 134.(c) 170.(c) 206.(c) |L2%42.0) 279. (¢) 315. (¢ 349. (d)
27. (a) 63. (d) 99. (c) 135.(a) 171.(c) 20? \ 4 243.(c) 280. (c) 316. (b) 350. (a)
28. (o) 64. (d) 100. (c) 136.b) 172.(b) 208fa).) 3| 244.(0) 281. (b) 317. (d)) 351 (b)
29. (b) 65. (o) 101.(b) 137.(b) 173.(a) 209% 245.(b) 282. (a) 318. (o) 352. (¢)
30. (o) 66. () 102.(c) 138.(b) 174.(c) (o) 246.(d) 283. (d) 319. (b) 353. (¢
31. (a) 67. (b) 103. () 139.(c) 175.(c) [A- 1.(c) 247.(b) 284. (c) 320. (a) 354. (b)
32. (o) 68. (b 104.(c) 140.(c) 176. @M)J'gm () 248.(c) 285. (a) 321. (a) 355. (d)
33. (a) 69. (b 105.(a) 141.(c) e 213.(d) 249.(a) 286. (d) 322. (a) 356. (c)
34. (o) 70. (d) 106.(d) 142.(d) % 214.(c) 250.(a) 287. (b) 323. (9 357. (d)
35. (d) 71. (@) 107.(c) 143.(c) 794c) 215.(c) 251.(d) 288. (a)

36. (¢ 72. (¢ 108.(c) 144.(c) 180.(b) 216.(b) 252.(b) 289. (a)

o
_\_)
b
(’ N
. d
8y
o)
w SIS
A;.Ja &’
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